OH\eDK OH\CDK

Planetary Gearbox

1TEBIEY =08 B &

Zrel ukE T AR A

BEARN: @i/ 13925507910 0769-23028839
HEFS : xulonggk@yeah.net

Http:/ /www.acservomotor-xl.com

Http:/ /www.xulonggk.cn

0Q0Q:34653256

Wis%5: 13925507910

xoqiean gleyoueld 2 fg i {0 Y

Fm8H8L0¢



COKWEZRRITEREN, Bl 2T 8L, =& =% B8k, Al
F. Gif. &XFEE SREREN. SEENESEREN. mRERSNS
 AECHEERATRR AR DD, R REMTHEAT SRR, REE
BRHAREEE. BEWS, BNEFHFRREREE, ISR R0R
5, PEPIEERASEEAUREE AR AR, =R ZEATS
A TR, SUstlR, BTN, BRM,. SEENRAE. S54RE0ZN
. BFiIRE. BT WA B, RS E.
HM-RESERE HOmERN. =M. FRTFhK.

CDK High Precision Planetary Gearbox(servo planetary reducer), suitable
for any manufacturer's ac servo motor, step motor or DC motor, such as
Yaskawa, Panasonic, Fuji, Mitsubishi, Sanyo, Omron, Siemens,
Delta,Hxdwh, etc. Facing the domestic and foreigh markets, taking its key
technologies and research achievements as the core, absorbing all kinds
of advanced technologies and resources in the world, we always insist on
developing products and solutions with the highest accuracy, the lowest
noise and the lowest temperature rise, providing technical support and
reconciliation with the highest quality products and services to maximize
the efficiency and benefit of customers. Sclutions, products are widely
used in robots, mechanical arms, CNC machine tools, welding and
cutting equipment, plastic machinery, packaging and printing machinery,
textile printing and dyeing machinery, electronic equipment, medical
machinery, ships, communications, aerospace and other fields.

Our product with stable quality, our products are widely exported to
Europe, America, Southeast Asia and other regions.

02

05
11
18
24
30
35
40
46
51

56
61

66
71
77

81

PLANETARY
GEARBOX

COMPANY PROFILE

INTERNAL

STRUCTURE

TR AL B 1k

ABZ3)7 2
ADZ3F2AEN
VRB#%7 2/
AE 737 2t
PF 3G 2%
PL #5312
ABRZ 511 2%
ADR 73/ 2%
VRBR #3124
AER 7352551
PFR 73/ 24

PLR 771 2 sz
R 75 % f a1

TrAszERT e

ORI RS A

01



Installation and usage Committed to build a world-class transmission brand

INTERNAL

STRUCTURE

o n{a]ik A F IR R

Installation and usage

T+t +t
I - 0 ED="""" 5100% , t,.,=trttt,
S5 [EHHE R 2 BINER . Toyee
“RONBREAFANTAR. | BESONAREAFSUTAR. .

J

p. =1 (Eq.1)

‘_JTL < 4xJ,,
i

(%2}
=

n
-

e
i
piis

ate application inertia

KEWEE  n,. SENAEE  (Eq2)

llowing formula \ n =5
t

T ELFEEE i(Eq.2) day ' : e T Ao snees
Calculate the reduction ratio n !
J,: Loadinertia  J_: Motorinertia I
T ER B Pl B3 AR T ER i P B A | e Ty 3/ MeXtXT, 40, Xt 0 +n,xtxT  (Eq3)
Calculate the needed average torque Calculate the needed average torque . m N, xt +n. Xt +n. xt
T,,(EqQ.3) T,,(Eq.3) ! S
1
N NI N ! .
T R AR e @) TsTaxikxon
Calculate the maximum acceleration Tz,m;.:(EqA) !
torque at the application end . EHAR % ) NB
® LhmE T, - !
i a 0~1000
Output shaft torque .
T e - . 1000~1500
R AREN NPT 1 A A RGEM T | | ; 1500~2000
torque at the application end torque at the application end ) 2000~3000
To , 3000~5000
| Motor maxiumum output torque
} } } . erating efficie (Eq4)
T ——————— NP ® iR .
HEN BB FIIHR n,, ROBERAEGUE R HEE n,(Eq.4) YES - FF .
Calculate the average speed N, required at the application end and the rated output speed nm(Eq.d) of the reducer i‘ﬂzﬁﬁ jj a7 2aa D I
Output shaft load FZrc R FZac 777777777 .
! 1
Fzm N anp | . 6 Mg, =Nyy= fxnx
FoE | I Ny Xt 4N, Xt 4N, Xt
. ord . | 2ad | | ’ m T+t+t,
375 P B A T3 37 P/ | RSER EE | : y
Choose larger gearbox and smaller reduction ratio | . Noy= i ( Eq.5 )
1
| o
N 1
©® i R
S ey A S Z output speed
HERENS B2 2 PRGN F,, BB F,.Eq6) n, ] 7 X EXA Tt
Calculate th dial force . on the output of the gearbox F,..(EQ.6) | / ' Fap= 3 /DXt T T
alculate the average radial force I;,on the output of the gearbox I, = n,, nzp i [ N1 ] ' N, Xt +n,Xt+N,xt,
e t t t t I F, =3/ nxtxF, +nxtxF,’ +n,xtxT,.’
HERENRE EFR 2 PRBA F, BN F, ORVFE : : b . =3/ e SIS e B (Eq.6)
Calculate the allowable values of the average radial forceFZannd axial forces deE on the output of the gearbox tcvc‘e e e e T e

B i8] /Time

17 R ABOR

torque at the application end

1 BERT S RS R i A =

Select the desired accuracy and output shaft form

I RESEAK
Selected

02



P AB SERIES

Series planetary gearbox
RANTTEIREL

R 1T B JR#E 4 /series planetary gearbox

PRODUCT

FEATURESS
= i R

Z 547 B JFE ] /series planetary gearbox _
TEEREHLMRB—AIEMIRIT,
PR RN,
TERXBHRINZT,
EhERER RS SR SR,
W R AR INR IS H0F X EIHRC62,
MRS E B BE RO 0 M

W S| A ESMNE O SRE BRI,

DA SR ERN SRR S,

WG5S DIAMZEEXATIREE AR,
PUERBRERE A Bk BN AT ER AN N 1FiE,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

_ The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

%\ZJ—U f"};})iﬁi%*ﬂ/series right-angle gearbox

Z 547 B )% 41 /series planetary gearbox Z 7 th 23 jfg 2 3 B /series hollow rotating platform




AB SERIES |

INDICATION FOR MODEL

SELECTION
o HFAES KRR

(A ) mm (090 | mm [ 010 | [ K || P2 Jmm 2ix s

06

Motor
LE b K-gt reference
Ratio K-Key

3 S-H
4 S-Smooth
5
6
7
8
10
15

A 20

Size 25

042 35 BE

060 40 Precision

Bl 090 50 o g s
Model 115 60 Preﬁ:‘i‘s?znui)i&i\sh
AB 142 70 P2 A BA
AD 180 80 Standzjr—d%a%clgash
AE 220 100

P3&FEBR
Economic backlash

GENERAL NOTICES

1T 527K

HF, BS. HIE

TR EE S 0 R
ITRREEEATR
BERRENTME R
AAFRFINS EE

DR BB S EZRDEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

AB SERIES

PLANETARY GEARBOX

TR YLH BE BB} /Performance

Mg

Specification

TR N%E
Rated output torqueTZN

A {511 4E /Emergency stop torque TanOT
HUE 8\ #53%/Rated input speed NN

B AHI % /Maximum output speed N18

5B /Precision backlashP1

FR ALY BR /Standard backlashP2

2 33 3 B /Economic backlashP3

H K M /Torsional rigidity
FIFE 71 /Allowable radial force Fose
2144 18 J3/Allowable axial force Foas

% &5 /Lifespan

K [Efficiency

E & /Weight

% F3E & /Working temperature
JE 8 /Lubricating
B4 &4 /IP Grade
%2 %2 75 [6) /Installation direction

1% {8 (n1=3000rpm, T T )
Noise level (n1=3000rpm off load)

L
Unit

Nm

Nm

rmm

arcmin

arcmin

arcmin

Nm/arcmin
N
N
hr

%

kg

©

dB(A)

Rk

Stage

1,2
1,2
1,2

1,2
1,2
1,2
1,2

1.2
1.2
1.2
1.2
1.2

R EE

Ratio

3
4
5
6
7

8
10
15
20
25
30
35
40
50
60
70
80
100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~10
15~100
3~100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~100

3~100
3~100
3~100

AB042
20
19
22
20
19
17
14
20
19
22
20
19
17
22
20
19
17
14

5000
10000

780
390

0.6
0.8

ABOGO  ABO090

55
50
60
55
50
45
40
55
50
60
55
50
45
60
55
50
45
40

130
140
160
150
140
120
100
130
140
160
150
140
120
160
150
140
120
100

AB115
208
290
330
310
300
260
230
208
290
330
310
300
260
330
310
300
260
230

AB142 AB180

342
542
650
600
550
500
450
342
542
650
600
550
500
650
600
550
500
450

588
1050
1200
1100
1100
1000

900

588
1050
1200
1100
1100
1000
1200
1100
1100
1000

900

= 1E 5 E % H S 4B MMriple rated output torque

5000 4000 4000 3000 3000
10000 8000 8000 6000 6000
<3 <3 <3 <3 <3
<b <b <b <b <b
<b <b <b <b <b
<8 <8 <8 <8 <8
<8 <8 <8 <8 <8
<12 <12 <12 <12 <12
7 14 25 50 145
1530 3250 6700 9400 14500
765 1625 3350 4700 7250
20000
=97%
=94%

1.3 3.7 7.8 14.5 29
1.5 4.1 9 17.5 33
-10°C ~90°C
& AL 38 5H A /Synthetic lubricating grease
IP65

1E = 77 18] /in any direction

<58 <60 <63 <65 <67

AB220
1140
1700
2000
1900
1800
1600
1500
1140
1700
2000
1900
1800
1600
2000
1900
1800
1600
1500

2000
4000
<3
<5
<b
<8
<8
<12
225
50000
25000

48
60



AB SERIES I AB SERIES

0Lt L2 L§ (8 acr

&4 gb

DIMENSION .

SINGLE SECTION

93 it 03 it

o R~F (&%, HiEki=3~10) A, M
ROTATIONAL INERTIA OF R ~F/Dimension AB042 AB060 AB090 AB115 AB142 AB180 AB220
D1 50 70 100 130 165 215 250
D2 315 55 6.6 9 11 13 17
D3 j6 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 15 18 30 40 50 70 85
b ﬁiE*R?F%Ej]II\%% D6 M4*0.7P M5%*0.8P M8%*1.25P M12*1.75P M16*2.0P M20*2.5P M20*2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
. B z fge REL  AB042 ABO60 AB090 AB115 AB142 AB180 AB220 L3 55 7 10 12 15 20 30
3 0.03 0.16 0.61 3.25 9.21 28.98  69.61 L4 1 15 1.5 2 3 3 3
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37 L5 16 25 32 40 63 70 90
5 0.03 0.13 0.47 2.71 7.42 23.29  53.27 L6 2 2 3 5 5 6 7
1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72 L7 4 6 8 10 12 15 20
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97 L8 39.5 39.5 785 102 124.5 131.5 151.56
8 0.03 0.13 0.44 2.58 7.07 22.59 50.84 L9 45 48 7.2 10 12 15 15
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56 L10 10 125 19 28 36 42 42
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29 C1 46 70 90 145 200 200 235
e kg o 20 0.03 0.03 0.13 0.47 2.7 7.42 23.29 C2 M4*0.7P M4*0.7P M5*0.8P M8*1.25P M12%1.75P M12%*1.75P M12%1.75P
Rotationalinertia J1 25 003 003 013 047 271 742 2329 c3 8 <14/<16 <19/<24 <28 <35/<42 <42 <42/<55
30 0.03 0.03 0.13 0.47 2.7 7.42 23.29 ca 26 35 46.5 67 31 114 117
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29 C5 30 50 70 110 114.3 114.3 200
2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29 C6 35 35 6 14 19 24 20
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51 Cc7 42 60 30 130 180 180 220
60 0.03 0.03 0.13 0.44 2.57 7.03 22.51 cs 195 46 30 45.5 57.5 3815 875
70 003 003 013 044 257  7.03 2251 co 86 1225 156 5 2125 279 318 377
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51 Cc10 105 105 14.5 27 32 435 495
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51 B1 h9 5 5 6 10 12 16 20
TR EE (i=Nin/Nout ) 2. F KNS 46 T 28 =60% of Tanor 3. E 100rpm 1E BT R i o B H1 15 18 24.5 35 43 59 795
1. Ratio ( i=Nin/Nout ) 2. Maximum acceleration torque T 28 =60% of T 2noT 3. Output speed100rpm,acting on the center of the output shaft

08




AB SERIES I AD SERIES

Out L2 L§ (] oo

& Series planetary gearbox
) BT RAEN

03

D4 gb

Ty
903
605
/‘r‘\
-
AN

P Pa
L lem w| s dlo
L7 (]
DIMENSION
o BV PRODUCT
DOUBLE SECTION i, FEA;FURESS
= mAR SE : L]
o R~F(WF, AL i=15~100) . A PR
/=B BEhn =i 2 FH— ALl
R~t/Dimension  AB042 ABOBO AB090 AB115 AB142 AB180 AB220 TEBERSHDMRAE —FREEEIT,
= A BUEY
D1 - 70 100 130 165 215 250 FREA B R
D2 - 5.5 6.6 9 11 13 17 FERIAHRERT,
D36 - 16 22 32 40 55 75 B R IR S SN S R,
D4 g6 - 50 80 110 130 160 180 _ " el s
5 W R BRTNR IS H0E X EIHRCE2,
5 - 18 30 40 50 70 85 e .
WK S E B BE SO M
D6 - M5*0.8P M8*1.25P M12%*1.75P M16*2.0P M20%*2.5P M20%*2.5P
D7 - 80 116 152 185 240 292 W S| A ESNE OB BNRIT,
L1 - 60 90 115 142 180 220 PR S EN SR RE S,
-2 ) 3 48 60 9 108 138 BN S DIk R ARSI HE R,
-3 ) ° 10 12 10 20 30 DURBRE A IR ENFBERM N EE,
L4 - 1.5 1.5 2 3 3 3
L5 - 25 32 40 63 70 90
L6 - 2 3 5 5 6 7 Planetary boom and output shaft are intergrated
L7 _ 7 8 10 12 15 20 structure designed to ensure maximum torsional rigidity.
L8 - 715 116 147 185.5 200 220 Planetary wheel with full needle design,increase the contact
L9 = 4.8 7.2 10 12 15 15 area to improve the rigidity and output torque.
L10 - 12.5 19 28 36 42 42 The gears are carburized and quenched to the HRCB2 with low
C1 - 70 90 145 145 200 200 carbon steel surface for optimum wear and impact toughness.
C2 - M4*0.7P M5*0.8P M8*1.25P M8*1.25P M12*1.75P M12*1.75P L , :
Gears refer to foreign imported software-assisted design
3 h =14/<16 =16/<19 =19/=24 =24/=28 — e to obtain the best tooth shape to reduce noise.
Ca4 - 35 46.5 67 66 80 114
5 B 50 70 110 110 114.3 1143 The mputtermmal is conhected to the_ motor shaftin a double-tight
manner to obtain the maximum clamping force and zero
Cé B 35 6 14 10 9 24 backlash power transmission.
Cc7 - 60 80 130 130 180 180
C8 - 48 30 45.5 425 47.5 81.5
C9 - 154.5 194 257.5 340 352.5 441.5
C10 - 10.5 14.5 27 27 22.5 435
B1h9 - 5 6 10 12 16 20
H1 - 18 24.5 35 43 59 79.5

10



AD SERIES

PLANETARY GEARBOX

® RN BE R B /Performance

cpo i o s Fu  RMEE AD047 ADOG4 AD090 AD110 AD140 AD200 AD255
4 19 48 130 270 560 1100 1700
) 22 60 160 330 650 1200 2000
: 6 19 50 140 300 550 1100 1800
7 19 50 140 300 550 1100 1800
8 14 40 100 230 450 900 1500
10 14 40 100 230 450 900 1500
20 19 48 130 270 560 1100 1700
BUE I hiE
Rated output torqueT 2N Nm 25 22 60 160 330 650 1200 2000
35 19 50 140 300 550 1100 1800
40 19 48 130 270 560 1000 1700
2 50 22 60 160 330 650 1200 2000
60 19 50 140 300 550 1100 1800
70 19 50 140 300 550 1100 1800
80 14 40 100 230 450 900 1500
100 14 40 100 230 450 900 1500
INDICATION FOR MODEL £ {241 46 /Emergency stop torqueT2nOT Nm 1,2 4~100 = fE % E #i tH 77 4B ITriple rated output torque
SELECTION GENERAL NOTICES U A\ % /Rated input speed NN 1,2 4~100 5000 5000 4000 4000 3000 3000 2000
rpm
= _ N & K5\ F3R /Maximum output speed N18 1,2 4~100 10000 10000 8000 8000 6000 6000 4000
#8522 5 B /Super precision backlashPO arcmin
2 20~100 - - <3 <3 <3 <3 <3
1 4~10 - <3 <3 <3 <3 <3 <3
¥ 2125 B8 /Precision backlash P1 arcmin
2 20~100 = <b <b <b <b <b <b
. o - HF, BS A% 1 4~10 <5 <5 <b <5 <5 <5 <5
[ AD Jmm [010 | mm (010 | [ P1 | mm mixm 5 7;;; ttﬁii_;j]iﬂa;‘ﬁ FRAT R Standard backiashP2  arcmin
| Motor T ML AL = 2 20~100 <8 <8 <8 <8 <8 <8 <8
A b reference - IRREEDR R Torsional rigidty ~~ Nm/aremin 1,2 4~100 13 31 82 1561 440 1006
Ratio - HERRENTME R gty '
- NN F RN #3E Maximum Easdire tareue M2KB Nm 1.2 4~100 425 125 235 430 1300 3064 5900
_ 3 = e 3 <
4 SERESRAZRSEMRT 2 1% 6 F1/Allowable axial force Fzas N 1.2 4~100 990 1050 2850 2990 10590 16660 29430
5
6 - Type, model and torque £ Fi % @ ILifespan hr 1,2 4~100 20000
7 — Ratio or output speed
8 — Working conditions and connection methods 0% /Efficiency % L 4~10 =97%
10 - Quantity and installed machine name 2 20~100 =94%
15 ~putmode and nbut speod 1 4-10 0.7 1.2 3 56 119 316  56.1
AR 20 - Motor brand model or flange and motor shaft size EE Weight kg : : : : : :
Size 25 2 20~100 1 1.6 3.7 7.3 15.9 36.9 70.4
047 35 B - , . 5 3
064 40 Precision {8 AR /Working temperature C 1,2 4~100 ~10°C ~90°C
Bl 090 50 PO BREZE R JE78 /Lubricating 1.2 & R 38 B BE /Synthetic lubricating grease
Model 110 60 Super precision backlash
AB 140 70 P 537 %R /IP Grade 1,2 4~100 IP65
:ED ;gg 18000 Pre:lzs;n;jsgrs*] %2 3 77 18 /Installation direction 1,2 4~100 £ & 75 [8) /in any direction
RO S PR .
Standard backlash W % {8 (1 =5000rpm, T L) dB(A) 1,2 4-~100 <56 <58 <60 <63 <65 <67 <70

12

Noise level (n1=3000rpmoff load)



AD SERIES [

ROTATIONAL INERTIA OF

o HIERNENRE

K

Specification

ERREI

Rotational inertia J1

1})?21% tt ( i=N\n/Nout )
1. Ratio( i=Nm/Nout )

DUCER

LNy TH

Unit Stage Ratio

4

5
6
7
8

o

kg + cm? 25

80
100

2.5 KN0%E 148 T2 =60% of Tanor

2. Maximum acceleration torque T 28 =60% of T 2noT

TR EE

ADO047
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03
0.03

ADO64 ADO090

0.14 0.51
0.13 0.47
0.13 0.45
0.13 0.45
0.13 0.44
0.13 0.44
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13
0.03 0.13

AD110 AD140

2.87 7.54
2.71 7.42
2.61 7.14
2.67 7.14
2.57 7.03
2.57 7.03
0.47 2.71
0.47 2.71
0.47 2.71
0.44 2.57
0.44 2.57
0.44 2.57
0.44 2.57
0.44 2.57
0.44 2.57

AD200
25.03
23.29
22.48
22.48
22.51
22.51
7.42
7.42
7.42
7.03
7.03
7.03
7.03
7.03
7.03

AD255
58.31
53.27
50.97
50.97
50.56
50.56
23.29
23.29
23.29
22.51
22.51
22.51
22.51
22.51
22.51

3. & B 100rom fE A TR MR O L E

3. Output speed100rpm,acting on the center of the output shaft

AD SERIES

ocr

DIMENSION

SINGLE SECTION

[
L10x45°

D4 b7
o011

L9 Dep|

C10

905
4D

603
D11 b7

on 5
ADO4-AD2SS

4010

o R~ (#7%, kbt i=4~10)

R ~F /Dimension
D1H7
D2
D3 h7
D4 h7
D5
D6
D7
D8 H7
D9
D10
D11 h7
D12
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
C4
Ch
Cé
C7
Cc8
C9
C10
oD

ADO047

AD064
20
31.5
40
64
79
7xMbx0.8P
86
B
51
8x4.5
70
63.2

70
M4*0.7P
<14/<16
35
50
oS
60
23
88
11.5
67x2.0

ADO090
31.56

50

63

90
109

7xM6x 1P

118

6

77
8x5.5

95
89.2

12
18.6

30
10

75
44.5
7
1
920
M5*0.8P
<19/<24
46.5
70
6
80
30
111.5
14.5
90%2.5

0
TRing

06

AD110
40
63
80
110
135

TIxM6x1P 11xM8x1.25P 11xM10x 1.5P

145
6
98
8x5.5
120
109.2
12
18.6
6
29
10
8
10
59
7
1
145

M8%1.25P

<28
67
110
14
130
45.5
141.5
27

115%x2.5

AD140
50
80
100
140
168

179
8

125

12%x6.6
1562
139.2

12
17

38
14.6
10
12
68
7
1
200

M12*1.76P
<3b/<42

81
114.3
19
180
B7.5
173.5
32
146 %3

AD200
80
125
160
200
233

247
10
160
12x9
212
199.2
16
22.5
8
50
15
12
15
82
10
1.5
200

M12*1.76P

<42
114

114.3

24

180
81.5

225.5
43.5

204 x4

AD255

100
140
180
255
280

12x M16 x 2.0P

300
12
190
16x13.5
255
254.2
20
30.5
12
66
20
18
20
98
10
1
235
M12*1.76P

<42/<b5
17
200
20
220
87.56
268.5
49.5
245x5

15



AD SERIES [

DIMENSION

DOUBLE SECTION

o R~f (WF, AWEL i=20~100) )

10

R~F/Dimension
D1H7
D2
D3 h7
D4 h7
D5
D6
D7
D8 H7
D9
D10
D11 h7
D12
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
C4
Ch
C6
C7
C8
C9
C10
oD

ADO047

[TRNT, n u oo
O N N By T e
o
© ( /
d \W
5 ’Lci \0%7?“ & 1 Sla
ADO064 ADO090 AD110 AD140 AD200 AD255
20 31.56 40 50 80 100
1.5 50 63 80 125 140
40 63 80 100 160 180
64 90 110 140 200 255
79 109 135 168 233 280
7xMbx0.8P 7xM6x1P TTxMB6x 1P 11xM8x1.25P 11xM10x 1.5P 12x M16 x 2.0P
86 118 145 179 247 300
B 6 6 8 10 12
51 77 98 125 160 190
8x4.5 8x5b.b 8xb.5b 12%x6.6 12x9 16x13.5
70 95 120 152 212 255
63.2 89.2 109.2 139.2 199.2 254.5
8 12 12 12 16 20
8 18.8 13.6 17 22.5 20
3 6 6 6 8 12
19.5 30 29 38 50 66
7 10 10 14.6 15 20
4 7 8 10 12 18
7.7 7.5 10 12 15 20
73 82 105 129 150.5 167
6 7 7 7 10 10
0.5 1 1 1 1.5 1
70 90 145 145 200 200
M4*0.7P M5*0.8P M8*1.25P M8*1.25P M12*1.75P  M12*1.75P
<14/<16 <16/<19 <19/<24 <24/<28 <35 <42
356 46.5 67 66 80 14
50 70 110 110 114.3 114.3
3.6 6 14 19 9 30
60 80 130 180 180 180
23 30 45.5 57.5 47.5 84.5
120 149 187.5 234.5 260 332.5
1.5 14.5 27 32 22.5 43.5
67x2.0 90x2.5 116%x2.5 1463 204 x4 245x5

AD SERIES

DIMENSION

OUTPUT SHAFT DISK SURFACE
H 113 = R ~F /Output Shaft Disk Dimension

R ~F /Dimension
D1H7
D2
D3 h7
D4 h7
D5
D6
D8 H7
D10

AD047

ADO047
12
20
28
47
67

M3*0.5P
3
3.4

AD064
20
31.5
40
64
79
M5*0.8P
5
45

ADO090

31.6
50
63
90
109

M6*1.0P
6

5.5

AD064/090

AD110

40

63

80
110
135

M6*1.0P
6
5.5

AD140
50
80
100
140
168
M8%1.256P
8
6.8

AD200

80
125
160
200
233

M10*1.5P

10
9

AD255
100
140
180
255
280

M16*2.0P
12
13.5

17



VRBSER <

V R B Series planetary gearbox
RINFT BRI

PRODUCT

FEATURESS
i R

TRBRSHLMRA—GREWRT,
BREAMRIERIE,
TRERMHRERIL,
BT R SRS .
0 R AR AR TS A EIHROS2,
AR T B R S

3| BESNE O R HHRBIRIT,
BB TR

WA S DAMEERBIABE AR,
MFERBA KR EN BB NS 138,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

VRB | I e

INDICATION FOR MODEL

SELECTION
o HIFAEES KRR

[vRe] == (010 | == (010 |mm[ K Jum| P2 Jem zixms

EX]
Model
VRB

A
Size
042
060
090
115
140
180
220

IR EE

Ratio

K-
S-St

Motor
reference

BE
Precision
P1IEZER
Precision backlash
P2 iR AR
Standard backlash
P3&FHBR
Economic backlash

GENERAL NOTICES

1T 520

HlF, BS. HE

TR EE S 0
ITREEEATR
BERRENTME R
AAFRFINS EE

DR MBS EZRDEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

19



20

VRBSER <

PLANETARY GEARBOX

TRML M BE R R /Performance

i B
Specification Unit
B HE Nm

Rated output torqueTZN

£ &1 45 /Emergency stop torque T2NOT Nm
U 5\ # #/Rated input speed NN
rm
B K\ B3% /Maximum output speed N18
¥ & B /Precision backlashP1 arcmin
#rE 1 BR /Standard backlashP2 arcmin
2235 % B /Economic backlash P3 arcmin

H # R 14 /Torsional rigidity Nm/arcmin

B IF12 1M 73 /Allowable radial forceF2as N
214 18 J1/Allowable axial force Fzas N
8 Fl % 65 /Lifespan hr

2 K [Efficiency %

EFE /Weight kg

15 P33R & /Working temperature °C

878 ILubricating
B33 %4 /P Grade

224 75 [8] /Installation direction

18 3518 (n1=3000rpm, 7 1 £
Noise level (n1=3000rpm off load)

dB(A)

ik

Stage

1,2
1,2
1,2

1,2
1,2
1,2
1,2

1,2
1,2
1,2
1,2
1,2

RUE tE
Ratio

80
100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~10
15~100
3~100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~100

3~100
3~100
3~100

VRB042
20
19
22
20
19
17
14
20
19
22
20
19
17
22
20
19
17
14

5000
10000

0.6
0.7

VRBO60 ~ VRB090 VRB115 VRB140  VRB180
55 130 208 342 588
50 140 290 542 1050
60 160 330 650 1200
b5 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
40 100 230 450 900
BB 130 208 342 588
50 140 290 542 1050
60 160 330 650 1200
55 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
60 160 330 650 1200
55 150 310 600 1100
50 140 300 550 1100
45 120 260 500 1000
40 100 230 450 900

= {3505 i H 1 4B /Triple rated output torque
5000 4000 4000 3000 3000
10000 8000 8000 6000 6000
<3 <3 <3 <3 <3
<b <b <b <b <b
<b <b <b <b <b
<8 <8 <8 <8 <8
<8 <8 <8 <8 <8
<12 <12 <12 <12 <12
7 14 25 50 145
1530 3250 6700 9400 14500
765 1625 3350 4700 7250
20000
=97%
=94%
1.4 3.7 8 16 36
1.6 4.2 8.9 17 37
-10°C ~90°C
& A 78 S B /Synthetic lubricating grease
IP65
1F & 77 1) /in any direction
<58 <60 <63 <65 <67

VRB220
1140
1700
2000
1900
1800
1600
1500
1140
1700
2000
1900
1800
1600
2000
1900
1800
1600
1500

2000
4000
<3
<b
<b
<8
<8
<12
225
50000
25000

53
54

VRBSERIES

Committed to build a world-class transmission brand

ROTATIONAL INERTIA OF

REDUCER

o BERNENRE

Mg

Specification

HEREN

Rotational inertia J1

TR EE (i=Nin/Nout )
1. Ratio( i=N\n/Nou\ )

{1 itk TR

Unit Stage Ratio VRBO4Z
3 0.053

4 0.041

5 0.036

1 6 0.034

7 0.032

8 0.031

10 0.03

15 0.035

20 0.034

kg - om’ 25 0.034
30 0.03

35 0.034

2 40 0.03

50 0.03

60 0.03

70 0.03

80 0.03

100 0.03

2.5 KN0E S48 T28 =60% of Tanor
2. Maximum acceleration torque T 28 =60% of T 2noT

VRB060
0.22
0.17
0.16
0.15
0.14
0.14
0.14
0.14
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13
0.13

VRB090  VRB115  VRB140 VRB180 VRB220
1.2 5.3 20 44 90
0.95 4.1 15 28 62
0.86 3.6 14 22 52
0.82 SRS 13 18 47
0.79 3.2 12 16 42
0.77 3.1 12 15 40
0.75 3 11 14 38
0.72 2.8 11 12 36
0.72 2.8 11 12 35
0.71 2.8 11 12 S5
0.7 2.7 10 1N 34
0.71 2.7 11 12 85
0.7 2.7 10 11 33
0.69 2.7 10 11 38
0.69 2.7 10 1M 33
0.69 2.7 10 11 33
0.69 2.7 10 1M 33
0.69 2.7 10 11 33

3. H #E 100rpm fEB Tt O AL E

3. Output speed100rpm,acting on the center of the output shaft

21



VRBSER <

e

aLL

4

L3

=

0D4 gb
D3

DIMENSION

SINGLE SECTION

Ny

§D2

o R~F (#7%, mEuEtti=3~10)

Dimension(single stage,Ratio i=3~10)

22

JR~F /Dimension
D1
D2

D36
D4 g6
D5
D6
D7
L1
L2
L3
La
L5
L6
L7
L8
L9
L10
C1
C2
C3
C4
CB
Cé6
C7
C8
C9
C10
B1h9
H1

VRB042

VRB060

70
5.5
16
50
18
M5*0.8P
80
60
37
7
1.5
25
2
6
39.56
4.8
12.56
70
M4*0.7P
<14/<16
356
50
3.5
60
46
122.5
10.5

18

VRB090

100
6.6
22
80
30
M8*1.25P
116
90
48
10
1.5
32
3
8
78.5
7.2
19
90
M5*0.8P
<19/=<24
46.5
70
6
80
30
156.5
14.5

24.5

©

03 jf
RS

Shafttype S

VRB115

130

32
110
40

ﬁﬁ::ﬁfz‘ﬁ?;—ﬂw——rﬁ

M12*1.75P

152
115
60
7
2
40
5
10
102
10
28
145
M8%*1.256P
<28
67
110
14
130
45.5
212.5
25.5
10
35

§D3 j6

HERK

Shafttype K

VRB140

165

11

40
130

50

M16*2.0P

185
140

95

13

3
63
5
12
1245

12

36
200

M12%1.756P
<35/=<42
81
114.3

19
180
57.5
279

32

12

43

VRB180

215
188
55
160
70
M20*2.5P
240
180
105
20
3
70
6
15
131.56
15
42
200

M12%1.756P

<42
114
114.3
24
180
81.5
318
43.5
16
59

VRB220

250
17
75
180
856
M20*2.5P
290
220
138
30
3
90
7
20
151.5
15
42
235

M12%1.76P

<42/<55

117
200

20
220
87.5
378
49.5

20
79.5

VRBSERIES

DIMENSION

aLt

Committed to build a world-class transmission brand

DOUBLE SECTION

(10

D4 g6

2y

o0

o R~F (MY, REEEE i=15~100)

Dimension(double stage,Ratio i=15~100)

R ~F/Dimension
D1
D2

D3j6
D4 g6
D5
D6
D7
L1
L2
L3
L4
Lb
L6
L7
L8
L9
L10
C1
C2
=3
ca
CB
Cé
C7
C8
C9
C10
B1 h9
H1

VRB042

VRB060
70
36
16
50
18
M5*0.8P
80
60
37
6
1.6
25
2
7
71.5
4.8
12.5
70
M4*0.7P
<14/<16
35
50
3.6
60
48
1564.5
10.5

18

VRB090
100
6.6
22
80
30
M8*1.25P
116
90
48
10
1.5
32
3
8
116
7.2
19
90
M5*0.8P
<16/<19
46.5
70
6
80
30

194
14.5

245

003
605

(1]

Db

—
)

RO

@g\\\\\\\“.&\\

$D3 j6

REAS HERAK
Shaftiype S Shaft type K
VRB115 VRB140
130 165
9 11
32 40
110 130
40 50
M12%1.75P M16%*2.0P
152 185
115 140
60 95
7 13
2 3
40 63
5 5
10 12
147 185.5
10 12
28 36
145 145
M8*1.25P M8%*1.25P
<19/<24 <24/<28
67 66
110 110
14 10
130 130
45.5 42.5
257.5 823
25.5 27
10 12
35 43

VRB180

215
13.5

55
160

70

M20*2.5P

240
180
105

20

3
70
6

15
200

15

42
200

M12*1.76P

<35

80

114.3

180
47.5
352.5
22.5
16
59

VRB220
250
17
75
180
85
M20*2.5P
290
220
138
30
3
90
7
20
220
15
42
200
M12%1.76P
<42
114
114.3
30
180
84.5
441.5
43.5
20
79.5

23



AE SERIES [

Series planetary gearbox
RN T EROEL

PRODUCT

FEATURESS
7= i R

TEERSHL XA —RREERIT,
B RE AR BRI,

TERXAHmRERIT,
AR S SN S AR,

W R AR BSNR TS B0E X B HRC62,
ISR SR AT BB R 91

W S| B ESNE OB HBIRTT,

AE SERIES

MR SR ENEERE S,

INDICATION FOR MODEL
BN S DIAEERASABE TR,
SRR AR D B SELECTION GENERAL NOTICES
* HlIFESKR ® T ERIAl

24

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

[(AE Jmm (010 | mm (010 |mm | K |mm P2 |mm zis5

HlF, BS. HE

Motor R LE B 0 R
, . IRREEARRX
The gears are carburized and quenched to the HRC62 with low LI b K- reference B T S TR
. q ; Rati Al N - .

carbon steel surface for optimum wear and impact toughness a3|o S-St 4 NP FRENH B

L . : =57 BEHFEZRITIX <
Gears refer to foreign imported software-assisted design 4 SEMRESAZRERMRT

: . 5

to obtain the best tooth shape to reduce noise. 6 Type, model and torque
The input terminal is connected to the motor shaft in a double-tight 7 Ratio or output speed .

X . i 8 Working conditions and connection methods
manner to obtain the maximum clamping force and zero 10 Quantity and installed machine name
backlash power transmission. 15 Input mode and input speed

H A& 20 Motor brand model or flange and motor shaft size
Size 25
050 35 BE
070 40 Precision
77 090 50 , "
P1ERE R
Model 120 60 Precision backlash
AB 155 70 — oo it s
P2 iR TS R
AD 205 80 Standard backlash
AE 235 100

P3&FEBR
Economic backlash

25



AE SER|ES _ AE SER|ES Committed to build a world-class transmission brand

PLANETARY GEARBOX
IR 88 BlPerformance
. Eh B MEE  AE050 AE070 AE090 AE120 AE155 AE205 AE235 ROTATIONAL INERTIA OF

3 20 55 130 208 342 588 1140
4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000

1 6 20 5% 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8

17 45 120 260 500 1000 1600 = R
= e =
10 14 40 100 230 450 900 1500 o FERVIFENRE
15 20 B} 130 208 342 588 1140
S %6 - 20 19 50 140 290 542 1050 1700
Rated output torque Tan 25 22 60 160 330 650 1200 2000
30 20 b5 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
2 40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 b5 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
% {240 4E /Emergency stop torque TanoT Nm 1,2 3~100 = 5 %0E ¥y 7 4B Mriple rated output torque
FUE A\ #53%/Rated input speed NN 1,2 3~100 5000 5000 4000 4000 3000 3000 2000
rm . ey .
KM A B3 /Maximum output speed 16 1,2 3~100 10000 10000 8000 8000 6000 6000 4000 .- B Ja REE AF0S0 AE070 AE090 AE120 AE155 AE205 AE235
1 3~10 - <3 <3 <3 <3 <3 <3 3 0.03 0.16 0.61 3.25 9.21 28.98 69.61
#5215 /Precision backlash P1 arcmin
2 15~100 - <5 <b <b <b <b <b 4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
1 3~10 <b <b <5 <5 <5 <5 <5 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
#r IS BY /Standard backlash P2 arcmin
2 15~100 <8 <8 <8 <8 <8 <8 <8 1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
1 3~10 <8 <8 <8 <8 <8 <8 <8 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
223515 B /Economic backlash P3 arcmin
1,2 15~100 <12 <12 <12 <12 <12 <12 <12 8 0.03 0.13 0.44 2.58 7.07 22.59 50.84
H KM Torsional rigidity Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225 10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
BIF1E 871 /Allowable radial force F2ae N 1,2 3~100 780 1530 3250 6700 9400 14500 50000 15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
21 %A 5 1/Allowable axial force F2as N 1,2 3~100 390 765 1625 3350 4700 7250 25000 B 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
%K}]’EEJ1 kg . sz
% & ILifespan hr 1,2 3~100 20000 Rotational inertia J1 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
1 3~10 =97% 30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
&K [Efficiency %
2 15~100 =94% 35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
1 3~10 0.6 1.4 3.7 8 16 36 53 2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
F & /Weight kg
2 15~100 0.7 1.6 4.2 8.9 17 37 54 50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
8 B3R /Working temperature °C 1,2 3~100 -10°C ~90°C 60 0.03 0.03 0.13 0.44 2.57 7.03 22.51
JE38 /Lubricating 1,2 4 A5 78 W B /Synthetic lubricating grease 70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
B3P & 4R /IP Grade 1,2 3~100 IP65 80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
2235 757 4] /Installation direction 1,2 3~100 £ & 75 16) /in any direction 100 0.03 0.03 0.13 0.44 257 7.03 22.51
N ) dB(A) 1,2 3~100 <56 <58 <60 <63 <65 <67 <70 TOREREE (i=Nin/Nout ) 2.8 A H05% 46 T2s =60% of Tanor 3. # K 100rpm e AFH D LB
' 1. Ratio( i=Nin/Nout ) 2. Maximum acceleration torque T 28 =60% of T 2noT 3. Output speed100rpm,acting on the center of the output shaft

27



AE SERIES

DIMENSION
SINGLE SECTION

o R~t(#Y, BEKEI=3~10)

R ~F/Dimension
D1
D2

D36
D4 g6
D5
D6
D7
D8
D9
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
(&3
ca
@5
Cé
C7
C8
C9
C10
C11
B1h9
H1

28

AE050

AEOQ70
62
M5*0.8P
16
52
18
M5*0.8P
64
70
51
20.5
36
6.5

25

10
63.5
4.8
12.5
70
M4*0.7P
<14/<16
35
50
3.5
60
46
122.5
10.5
36.5

18

[
¢D8
D4 he
§Ds

il
|
|
|

9C5
409

B1 h9 L6 L§

H1

[}

¢D3 jb

AE090
80
M6*1.0P
22
68
30
M8*1.25P
94
90
77
33.5
46

32

12
80.5
7.2
19
90
M5*0.8P
<19/=24
46.5
70
6
80
30
156.5
14.5
43.5

24.5

AE120
108
M8*1.25P
32
90
40
M12%1.75P
125
120
98
38
70
17
1.5
40
5
16
97
10
28
145
M8%1.25P
<28
67
110
14
130
45.5
212.5
25.5
65.5
10
35

AE155
140
M10*1.5P
40
120
50
M16*2.0P
150
155
125
50
97
15
3
63
5
20
124.5
12
36
200
M12%1.75P
<3b/=<42
81
114.3
19
180
57.5
279
32
83
12
43

AE205
184
M12%1.75P
55
160
70
M20*2.5P
200
205
160
52
100
15

70

22
136.5
15
42
200

M12*1.75P

<42
114
114.3
24
180
81.5
318
43.5

16
59

AE235
210
M16*2.0P
75
180
85
M20*2.5P
225
235
190
63
126
18

90

28
164.5
15
42
235
M12*1.76P
<42/<55
17
200
20
220
87.5
377
49.5
116.5
20
7.9:5

AE SERIES

DIMENSION

DOUBLE SECTION

T /Dimension

D1
D2

D3 j6
D4 g6

D5
D6
D7
D8
D9
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
Ca
Cb
Cé
Cc7
C8
C9
c10
C1

B1ho

H1

AEO050

o R~F (MY, RIELE i=15~100)

AE070
62
M5*0.8P
16
52
18
M5*0.8P
64
70
51
20.5
36
6.5
1
25
2
10
95.5
4.8
12.5
70
M4*0.7P
<14/<16
35
50
3.5
60
48
154.5
10.5
36.5

18

(]

L8 8

907
$D8
§D4 h
$Ds

603
%)
$D9

|
= {H

AE090
80
M6*1.0P
22
68
30
M8*1.25P
94
90
77
BSNE
46

32

12
118
7.2

19

90

M5*0.8P
<16/<19
46.5
70
6

80

30
194

14.5
41.5

24.5

M12*1.75P

AE120
108
M8%1.25P
32
90
40

125
120
98
38
70
17
1.5
40
5
16
142
10
28
145

M8*1.256P

<19/<24
67
110
14
130
45.5
257.5
25.5
65.5
10
35

AE155 AE205
140 184
M10*1.5P M12*1.756P
40 55
120 160
50 70
M16*2.0P M20*2.5P
150 200
155 205
125 160
50 52
97 100
15 15
3 3
63 70
5 6
20 22
186.5 205
12 15
36 42
145 200
M8*1.25P M12*1.76P
<24/<28 <35
66 80
110 114.3
10 9
130 180
42.5 47.5
325 352.5
27 22.5
68 77
12 16
43 59

AE235
210
M16*2.0P
75
180
85
M20*2.5P
225
235
190
63
126
18

90

28
240.5
15
42
200
M12*1.75P
<42
114
114.3
24
180
81.5
441.5
43.5

20
79.5

29



30

PF SsERIES I

Series planetary gearbox
ZRIFTE IR

PRODUCT

FEATURESS
7= i R

TEERSLHX ARSI,

B RE AR,
TERXAHREIRIT,

R E R IR S SRS AR,
W R AR BSNR TS B0E X B HRC62,
IR SR AT BB R 91

W S| B ESMNE O R B HBNIRIT,
MRS R ENETE RS,

BN S DIAHEERASGABE TR,
ISR AH Sk ZA B ERNEN N FiE,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.
The input terminal is connected to the motor shaft in a double-tight

manner to obtain the maximum clamping force and zero
backlash power transmission.

PE SERIES

INDICATION FOR MODEL

SELECTION
o HIFAEES KRR

[ PF ) == 090 ) mm[010|mm| K |um[ p2 |umzinms

| Motor
L L K-gt reference
Ratio K-Key

3 S-S
4 S-Smooth
5
6
7
8
10
15

A 20

Size 25

060 35 BE

080 40 Precision

B9l 090 50 Jot e
Model 115 70 Precision backiash
PF 142 100 P2 iR A
PL Standard backlash
P3 &R E R

Economic backlash

HlF, BS. HE

TR EE S 0
ITREEEATR
BERRENTME R
AAFRFINS EE

DR MBS EZRDEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

GENERAL NOTICES

1T 520

31



32

PF SERIES I

PLANETARY GEARBOX

TR ML BE B B} /Performance

Hg N
Specification Unit
B S%E N
Rated output torque T2 m
% B 53K #h FL1Z Motor shaft size mm
B K H 4B /Maximum output torque Nm
HUE B N\ # #/Rated input speed NN m
# I /Backlash QlCmi
1 # NP4 /Torsional rigidity Nm/arcmin
212 1871 /Allowable radial force Fae N
B4 15 1/Allowable axial force Fass N
fEA % & /Lifespan hr
& [Efficiency %
B & /Weight kg
- ) °C
£ B & /Working temperature

B3P %4 /IP Grade
JE78 /Lubricating
%% 77 [6) /Installation direction

1 25 {81 (n1 =3000rpm, 7 £ ) dB(A)
Noise level (n1=3000rpm off load)

g

Stage

1,2
1,2
1,2

1.2
1.2
1.2
1.2

1,2
1,2

1,2
1,2

TR EE

Ratio

3
4
5
6
7

8
10
12
15
16
20
25
28
30
35
40
50
60
70
80
100
3-100
3-100
3-100
3-10
12-100
3-100
3-100
3-100
3-100
3-10
12-100
3-10
12-100
3-100
3-100

3-100
3-100

PF060

18
36
40
20
20
12
12
36
40
36
40
40
36
18
40
36
40
20
20
12
12

6-14

4000
<10
<12
1.8
220
240

1.7
1.9

& B8 78 B BE /Synthetic lubricating grease
'TE %: bl I"D] /In any direction

<68

<63

<63

PF080 PF090 PF115
40 50 125
90 110 230
110 125 260
40 50 90
40 50 90
22 32 70
22 32 70
90 110 230
110 125 260
90 110 230
110 125 260
110 125 260
90 110 230
40 50 125
110 125 260
90 110 230
110 125 260
40 50 90
40 50 90
22 32 70
22 32 70

14-19 14-19 16-24

= fZ %15 # H 1 4B /Double rated output torque

3500 3500 3500

<10 <10 <10

<12 <12 <12
4.7 4.85 11
400 430 1000
420 450 1240
10000
=96
=93
4.4 4.4 12
5 5 14
-10°C~80°C
IP65

PF142

290
460

550
340
340
210
210
460
550
460
550
550
460
290
550
460
550
340
340
210

210

19-35

2500
<10
<12
55
4500
4800

26.5
29.6

PF

SERIES

Committed to build a world-class transmission brand

K8 (OuTPUT)
0Ll
(8 L2
C1g, 18 14
| —
o) .
28— =5 &
L]
, ]
(6 L3
04
B1h9 L5 16
DIMENSIO Ty,
SINGLE SECTION sl .
R~ (87, AELE 1=3~10)

R =F /Dimension PFO60-L1 PFO80-L1 PF090-L1 PF115-L1
*D1 70 100 110 130
%xD2 5.5 6.5 6.5 8.5
% D3 14 20 22 25
% D4 50 80 85 110

Db 17 25 30 35
D6 Mb M6 M6 M10
D7 80 120 125 160
L1 60 90 92 120
X2 35 40 46 b5
¥L3 3 3 5 4
L4 30 36 36 50
XLb 25 25 32 40
L6 2.5 5 2 5
L7 12.5 18 18 23
L8 8 10 10 14
*C1 70 90 90 145
*C2 M4 M5 M5 M8
*C3 6-14 14-19 14-19 19-24
*C4 32 41 41 60
*Cb 50 70 70 110
*C6 4 5 5 8
C7 60 80 80 130
C8 34.5 46.5 46.5 81.2
C9 123 160 166 210.2
C10 11 16.5 16.5 20
C1 80 105 105 165
% B1 5 6 6 8
KH1 16 225 245 28

N3 (INPUT)
acr

S

5l

4-C2

S
Q \,)@

PF142-L1
185
11
40
130
55
M12
230
176
87

80
70

25
15
200
M12
24-35
83
114.3
10
180
107
268.5
26

235
12

43

33



PF SsERIES I

Hitti ¥ (ouTPUT)
0Lt

DIMENSION

DOUBLE SECTION

9

L8

L2

L4

B3t (INPUT)

acr

D5
oD4gb

g [T

45°

B1h9

2,
%s

=

6

o R~f (WF, WEL i=156~100)

=T /Dimension

D1
%D2
%D3
D4
D5
D6
D7
L1
%12
%L3
L4
%Lb
L6
L7
L8
*C1
*C2
*C3
*C4
EEH
*C6
c7
Cc8
C9
C10
Ci
B
XKH1

34

PF060-L2

70
5.5
14
50
17
Mb
80
60
35
3
30
25
2.5
12.5

34.5
142

80

16

PFO80-L2
100
6.5
20
80
25
M6
120
90
40
3
36
25
5
18
10
90
M5
14-19
M
70

80
46.5
184.5
16.5
105

225

L3

L5

L7

PF090-L2

110
6.5
22
85
30
M6
125
92
46
5
36
32
2
18
10
90
M5
14-19
4
70

80
46.5
190.5
16.5
105

245

L6

&

4-C2

PF115-L2

1

130
8.6
25
110
35
M10
160
120
55

50
40

23
14
145
M8
9-24
60
110

130
81.2

243.7

20
165

28

»
%\\tb

PF142-L2
185
11
40
130
55
M12
230
176
87

80
70

25
15
200
M12
24-35
83
114.3
10
180
107
313.5
26
235
12
43

PL SERIES

Series planetary gearbox
RINFTEIRIR

PRODUCT

FEATURESS
= i R

TEEBRSHL XA —AREERIT,
HRE AR,
TERXAHRIRIT,

BRI ARIR S SN S AR,
W R AR BSNR TS 50E X EIHRC62,
MR SR AE BT BB Rt 91

Wi S| BESMNE O R B HBIRTT,
MR G RN RE S,

BN S DIAHZEERAIABE TR,
BB AHRZENNBERNENNFiE,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.
The input terminal is connected to the motor shaft in a double-tight

manner to obtain the maximum clamping force and zero
backlash power transmission.

35



PL SERIES I PL SERIES

PLANETARY GEARBOX

® JFH RN RER R /Performance

spariE on B e REL PLOBO PLO8O PLO90 PLI20  PL160
3 18 40 50 125 290
4 36 90 110 230 460
5 40 110 125 260 550
1 6 20 40 50 90 340
7 20 40 50 90 340
o~ 8 12 22 32 70 210
%?; 10 12 22 32 70 210
L+ ) 12 36 90 110 230 460
3] 15 40 110 125 260 550
S - 16 36 90 110 230 460
Rated output torque T 2n 20 40 110 125 260 550
25 40 110 125 260 550
2 28 36 90 110 230 460
30 18 40 50 125 290
35 40 110 125 260 550
40 36 90 110 230 460
50 40 110 125 260 550
INDICATION FOR MODEL 60 20 40 %0 90 340
70 20 40 50 90 340
SELECTION GENERAL NOTICES w | ®w | @m | @ | W | am
o HMMESKT 1T 52700 012 22 32 70 210
% B T35 % 42 Motor shaft size mm 1,2 3-100 6-14 14-19 14-19 16-24 19-35
£ K %) 48 45 /Maximum output torque Nm 1,2 3-100 T {EHUE i H 1 4E /Double rated output torque
HUE B\ /Rated input speed NN rom 1,2 3-100 4000 3500 3500 3500 2500
M. e miE 1B Backlash aremin 1 3-10 <10 <10 <10 <10 <10
[P ) == (090 mm| 010 |mm| K Jum[ P2 |mmzixzis iR 2 12-100 <12 <12 <12 <12 <12
L | re“fn;te:rce - IRAREEHAR R /Torsional rigidity Nmyarcmin 1,2 3-100 1.8 4.7 4.85 " 55
’fﬁ'&ﬁ-iit 'L‘_k%y - BE & 2 Wfﬂzg ZiN A ¥4 871 /Allowable radial force Fzes N 1,2 3-100 220 400 430 1000 4500
z SHm ~ ggﬁ;g%gii B0k R 25 YF 4 9 71/Allowable axial force Foes N 1.2 3-100 240 420 450 1240 4800
5 18 FA% &5 /Lifespan hr 1,2 3-100 10000
; © Ritooroupuspoed 0 oney 9 1 3-10 =96
8 — Working conditions and connection methods 2 12-100 =03
10 — Quantity and installed machine name
15 - Input mode and input speed , S kg 1 3-10 1.7 4.4 4.4 12 26.5
AR 20 — Motor brand model or flange and motor shaft size 2 12-100 1.9 5 5 14 296
(s)ig: :; e {8 FRE Working temperature e 1,2 3-100 —10°C~80°C
080 40 Precision B3P & 4R /IP Grade 1,2 3-100 IP65
I\i iuel (1)22 ;’g Prei?sﬁrﬁiﬁsh 538 /Lubricating 4 B 93 51 BE /Synthetic lubricating grease
PF 160 100 P2 AR 25 ¥ 7 1 /Installation direction 1,2 3-100 £ & 77 1 /In any direction
" i ST EAE,  dBA 12 3-l00 <61 <63 <63 <68 <75

Economic backlash

36

37



PL SERIES NN

Hy i3 (OUTPUT)

DIMENSION

SINGLE SECTION

o R~ (&Y, WiEtI=3~10)

Dimension(single stage,Ratio i=3~10)

R ~F/Dimension
*D1
% D2
% D3
%D4

D5
D6
D7
L1
¥ L2
*L3
L4
*Lb
L6
L7
L8
*C1
*C2
*C3
*C4
“C5
*C6
C7
(0]
(03]
c10
C11
%B1
¢ H1

38

3 (INPUT)
E— -
14 L “ 450\
- AN
= 8 §
NS
N
L & e N
1h9 Eﬁ L6
= 2 l
D4 M""” i
PLOBO-L1 PLOSO-L1 PLO90-L1 PL120-L1 PL160-L1
52 70 80 100 145
M5 M6 M6 M10 M12
14 20 22 25 40
40 60 68 80 130
17 25 30 35 55
M5 M6 M6 M10 M12
60 80 90 115 162
35 40 46 55 87
3 3 5 4 5
30 36 36 50 80
25 25 32 40 70
2.5 5 2 5 5
12.5 18 18 23 25
70 <) 90 145 200
M4 M5 M5 M8 M12
6-14 14-19 14-19 19-24 24-35
32 4 41 60 83
50 70 70 110 114.3
4 5 5 8 10
60 80 80 130 180
34.5 46.5 46.5 81.2 107
123 160 166 210.2 268.5
1 16.5 16.5 20 26
80 105 105 165 235
5 6 6 8 12
16 225 24.5 28 43

PL SERIES

4 35% (QUTPUT)

2Ch

DIMENSION

DOUBLE SECTION

o R~F (WF, EiELE i=15~100)

Dimension(double stage,Ratio i=15~100)

R ~F/Dimension
*D1
*%D2
% D3
% D4

D5
D6
D7
L1
%2
#L3
L4
% L5
L6
L7
L8
*C1
*C2
*C3
*C4
*Cb
*C6
Cc7
(0]
C9
c10
C11
X B1
X H1

" Hi \3i(INPUT)
g : o
1C10, U /45" 45°\
X X
lany

§L 1NN . c— 5 £

W — s
T
1.

' S

6 u L3 ® =) o

1h9 rﬁ'ﬁ
p
Dﬁ\ %"" | 17
)

PLO60-L2 PLO80-L2 PL090-L2 PL120-L2 PL160-L2
52 70 80 100 145
M5 M6 M6 M10 M12
14 20 22 25 40
40 60 68 80 130
17 25 30 35 55
M5 M6 M6 M10 M12
60 80 90 15 162
35 40 46 55 87
3 3 5 4 5
30 36 36 50 80
25 25 32 40 70
2.5 5 2 5 5
12.5 18 18 23 25
70 90 90 145 200
M4 M5 M5 M8 M12
6-14 14-19 14-19 19-24 24-35
32 41 41 60 83
50 70 70 110 1143
4 5 5 8 10
60 80 80 130 180
34.5 46.5 46.5 81.2 107
142 184.5 190.5 243.7 313.5
N 16.5 16.5 20 26
80 105 105 165 235
5 6 6 8 12
16 22.5 245 28 43

39



ABRSER I [

Series planetary gearbox

RHVITEIRIR

AB

PRODUCT

FEATURESS
7= En i

TEERSHMXE—ARAEMWIRT, HBESKOMERIME,
TERXBHEREIRT, SEMERMRSSWRMESH HEE,
WX ARBNRESHOEKEIHRCE2, MIRGRENTER T H#M,
WS BEME D REHEBIRLT, MIRSEENERRERES,

BN S DIAMEERATNEE AR, MRREKHIR
ENFBERNEHNEE,

RAREPER R, BFHHAES. LELERS30% ML,
SEFRANEE, LECERBASSENL,

REPERNEEE, SRERART, BEMETATY—, BEEFTK,
REPERNE, ERESHREDTSTE

ElREd, NHRSEENZEEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized

by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.

JNTSIRRERE ..ot b o vorid-ciass vansmissionbran

INDICATION FOR MODEL

SELECTION
o HIFAEES KRR

[ABR] == | 090 | mm | 010 Jmm [ K o[ P2 |mm zixzmis

I Motor
O K52 reference
Ratio K-Key
3 S-JtHh
4 S-Smooth
5
6
7
8
10
15
A% 20
Size 25
042 35 BE
060 40 Precision
| 090 50 4 ”
P1EZER
Model 115 60 Precision backlash
ABR 142 70 P2 IR A
180 80 Standard backlash
100 P32
...... Economic backlash
200

GENERAL NOTICES

1T 5270 %0

HlF, BS. HE

TR EE S 0
ITREEEATR
BERRENTME R
AAFRFINS EE

DR MBS EZRDEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

41



ABRSER =S I ABRS - - e
o JHIEM 4L 5N1R = /Rotational inertia

PLANETARY GEARBOX T TS

42

;ﬁ;?}iit ABR042 ABR060 ABRO090 ABR115 ABR142 ABR180
TN A S5 3~10 0.09 0.35 2.25 6.84 23.4 68.9
TR MM 8E W H] /Performance
m - - 1 12. 14  0.035 0.07 1.87 6.25 21.8 65.6
L =R iv4 il JRER EE
Specification Unit £age R];tio ABR042 ABRO060 ABR090 ABR115 ABR142 ABR180 g-ij]:rjﬁg‘n 20 0.03 0.07 1.87 6.25 21.8 65.6
3 9 36 90 195 342 588 Rotational inertia J1 kg.cn? 15 0.09 0.35 5 95 6.84 3.4 68.9
4 12 e (20N IR0 - TC0 2 25-~100  0.09 0.09 0.35 2.25 6.84 23.4
5 15 60 150 326 650 1200 120~200 0.007  0.01 0.31 1.87 6.25 21.8
6 18 55 150 310 600 1100 03 (INPUT) 48 8 QUTPUT)
: 7 19 50 140 300 550 1100 - 1
12
8 17 45 120 260 500 1000 i
10 14 40 100 230 450 900 gg
12 18 55 150 310 600 1100 -
14 19 50 140 300 560 1100 = °I
]
20 14 40 100 230 450 900 ﬁ
14,
15 15 60 150 325 650 1200 0 iii m
25 15 60 150 325 650 1200 T, | © igjg
WE % N 30 20 55 150 310 600 1100 D I M E N S I O Jads MR 5 -
Rated output torque 2N 35 19 50 140 300 550 1100 SINGLE SECTION s
40 17 45 120 260 500 1000 =
. %, 2.
45 14 40 100 230 450 900 ST % =
Rt (875, REigte =3 ~20)
50 14 60 100 230 650 1200
) 60 20 55 150 310 600 1100 _ _
20 09 5o 140 300 550 1100 R ~F /Dimension ABRO042 ABR060 ABR090 ABR115 ABR142 ABR180
80 17 45 120 260 500 1000 D1 - 70 100 130 165 -
90 14 40 100 230 450 900 D2 - 5.5 6.6 2 1 -
100 14 40 100 230 450 900 D3jé - 16 22 32 40 -
120 18 55 150 310 600 1100 D4g6 - 50 80 110 130 -
140 19 50 140 300 560 1100 D5 - 17.5 30 40 49.5 -
160 17 45 120 260 500 1000 D6 - M5 M8 M12 M16 -
200 14 40 100 230 450 900 D7 - 80 116 152 185 -
£ {237 45 /Emergency stop torque TanOT Nm 1,2 3~200 = 5 %UE ¥ B H 4B Mriple rated output torque L1 - 60 90 115 142 -
HUE N B3 Rated input speed NN rpm 1,2 3~200 5000 5000 4000 4000 3000 3000 L2 - 37 48 65 97 -
£k \ 53/Maximum output speedn 8 rpm 1,2 3~200 10000 10000 8000 8000 6000 6000 L3 - 7 10 12 15 -
, 1 3~20 <4 <4 <4 <4 <4 <4 L4 - 1.5 1.5 2 3 -
¥ B35 B8 /Precision backlash P1* arcmin
2 15~200 <7 <7 <7 <7 <7 <7 L5 5 25 32 40 63 -
- _ 1 3~20 <6 <6 <6 <6 <6 <6 L6 - 2 3 5 5 -
#R 5B /Standard backlash P2* arcmin
2 15~200 <9 <9 <9 <9 <9 <9 L7 - 6 8 10 12 _
e . . 1 3~20 =8 <8 <8 <8 <8 <8 L8 - 149.5 203 266.5 359 -
23535 Bi /Economic backlash P3 arcmin
2 15~200 <12 <12 <12 <12 <12 <12 L9 - 4 6 10 16 -
%R P Torsional rigidity Nm/arcmin 1,2 3~200 3 7 14 25 50 145 L10 _ 13 20 28 36 _
2% 171 /Allowable radial force Fass N 1,2 3~200 780 1530 3250 6700 9400 14500 C1 ) 20 90 145 200 )
T4 H F1/Allowable axial force Faae N 1,2 3~200 390 765 1625 3350 4700 7250 c2 _ Ma M5 M8 M12 _
fE &S [Lifespan hr 1,2 3~200 20000 * C3G6 ) i 19 2l 35 )
1 3~20 95%
MK [Efficiency % ° o7} - 325 54 81 81 -
2 26~200 92% C5G6 - 50 70 110 114.3 -
1 3~20 0.9 2.1 6.4 13 24.5 51
F & /Weight kg Ce - 3.5 6 14 19 -
2 25200 1.2 1.5 7.8 142 275 54 - ) 50 80 130 180 )
{5 FA 3B BT /Working temperature °C 1,2 3~200 (=10° C +90° C)
cs - 24.2 29.5 45.2 57 -
JE 8 /Lubricating & Al 3B BE Synthetic lubricating grease
C9 5 100 145 189.5 246.5 -
B3P & 4% /1P Grade 1,2 3~200 IP65
. C10 - 9.5 14.5 27 32 -
223 77 [ /Installation direction 1,2 3~200 1% & 77 [@ /In any direction 5
oo . 1 = 5 6 10 12 =
NomR R ~3000rm T R dB(A) 1.2 3~200 <61 <63 <65 <68 <70 <72
! . H1 - 18 24.5 35 43 -

(# “*" MFEES S5 IEHHIA/ Need confirm with our

ngineer for those precision data with

43



44

ABRSERIES

4\ (INPUT)

ocr

18

12

L3

— L

I
s
R
oD4gh
D5

&

WRRS

Shafttype S

HEAK

Shafttype K

2. 2,
% s

DIMENSION
DOUBLE SECTION

18,

L9

R~ (W%, ROEE i=15~200) = |

R~F/Dimension ABR042 ABR060
D1 - 70
D2 - 4% $5.5

D3j6 - 16
D4g6 = 50
D5 - 17.5
D6 = M5
D7 - 80
L1 = 60
L2 - 37
L3 = 7
L4 - 1.5
L5 = 25
L6 - 2
L7 = 6
L8 - 181.5
L9 = 4
L10 - 13
C1 = 70
C2 - 4 x M4
C3G6 - 14
C4 - 32.5
C5G6 = 50
C6 - 3.5
C7 = 60
C8 - 24.2
C9 = 100
C10 - 9.5
B1 = B
H1 - 18

1 % )
i : = a
15 4 O e
5‘ a3 | g
i - e
110
ABR090 ABR115 ABR142
100 130 165
4x $6.6 4x ¢9 4dx ¢ 11
22 32 40
80 110 130
30 40 49.5
M8 M12 M16
116 152 185
90 115 142
48 65 97
10 12 15
1.5 2 3
32 40 63
3 5 5
8 10 12
240.5 290 420
6 10 16
20 28 36
90 145 200
4 xMb 4 xM8 4xM12
19 24 35
54 54 81
70 110 114.3
6 1.6 19
80 130 180
29.5 43 57
145 170.5 246.5
14.5 27 32
6 10 12
24.5 35 43

N4

% 3% (ouTPUT)

Oul

ABR180

ABRSERIES

Committed to build a world-class transmission brand

BB (INPUT)

i "
4 ﬁ}x 45; |:* —3
%ﬁ; / H — _
\ i -
o ) i 5
; : cr— e
T A2
N & ®
&%&;« - 2%
DIMENSION
DOUBLE SECTION
R~F (R, @ikt i=15~200) &zt |
R ~F/Dimension ABRO042 ABR0O60 ABR0O90 ABR115 ABR142
D1 - 70 100 130 165
D2 - 4x ¢$5.5 4% $6.6 4% 9 4x ¢ 11
D3j6 - 16 22 32 40
D4g6 = 50 80 110 130
D5 - 17.5 30 40 49.5
D6 - M5 M8 M12 M16
D7 - 80 116 152 185
L1 = 60 90 115 142
L2 - 37 48 65 97
L3 = 7 10 12 15
L4 - 1.5 1.5 2 3
L5 = 25 32 40 63
L6 - 2 3 5 5
L7 = 6 8 10 12
L8 - 181.5 240.5 290 420
L9 = 4 6 10 16
L10 - 13 20 28 36
C1 = 70 90 145 200
C2 - 4x M4 4 xMb 4xM8 4xM12
C3G6 = 14 19 24 356
C4 - 32.5 54 54 81
C5G6 = 50 70 110 114.3
Cé - 11 7 11.5 19
Cc7 = 60 80 130 180
C8 - 24.2 29.5 43 57
C9 = 100 145 170.5 246.5
C10 - 9.5 14.5 27 32
B1 = B 6 10 12
H1 - 18 24.5 35 43

# 3% (ouTpuT)

ABR180

45



ADRSER I S ADRS R = [T o

Series planetary gearbox
RANTTEREYL

PRODUCT

FEATURESS
7= En i

TEERSHMXE—ARAEMWIRT, HBESKOMERIME,
TERXBHEREIRT, SEMERMRSSWRMESH HEE,
WX ARBNRESHOEKEIHRCE2, MIRGRENTER T H#M,
WS BEME D REHEBIRLT, MIRSEENERRERES,

BN S DIAMEERATNEE AR, MRREKHIR
ENFBERNEHNEE,

RAREPER R, BFHHAES. LELERS30% ML,
SEFRANEE, LECERBASSENL,

IR ER NS, EsERMRIT, BEEaEY—, sEaK,

REPERIEE, EREZHREDTE=E

HHEES, NHRSHEENTESE, INDICATION FOR MODEL

Planetary boom and output shaft are intergrated

structure designed to ensure maximum torsional rigidity. [ J 7"}1%[[] ﬂ—%i‘%n—: [ ) 'l 'ﬁ,—k\(;ﬁj%[[

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

N = - N, BS HE
Gears refer to foreign imported software-assisted design to [ADRJ — [090] -— [ 010] —[ P2 ] - Tk F S _ /Eﬁlg ttﬁii;j] i 55

obtain the best tooth shape to reduce noise. Motor N [N
L H reference - TRREZETH
B S 5= T2 o .
The input terminal is connected to the motor shaft in a double-tight manner Ratio - BERTENOVME R
to obtain the maximum clamping force and zero backlash power transmission. a - NN ARFIANSBE&E
5 - DR BB SFEREIRDAMR T
Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear. IO — Type, model and torque
— Ratio or output speed
. . _ g 14
Hv\gh tolerance_ \lnput speed, movle than 8 times 20 — Working conditions and connection methods
ilglet e sial Sevel el [ ou 25 - Quantity and installed machine name
35 — Input mode and input speed

The meshing tooth imprint of spiral bevel gear has been optimized )
: - § - . I AR 40 — Motor brand model or flange and motor shaft size
by optimum design, and the contact tooth surface load is uniform, and long running life.

Size 50
Cochlear bevel gears are meshed by optimum motion error analysis and 064 70
strict process control to ensure high precision running back clearance. 090 100 .
77 110 140 BE
Model 140 200 Precision
ADR PRI
VRBR Precision backlash
ABR P2 iR R
AER Standard backlash
P3 & 5B

Economic backlash

47



ADRS ERI ES ADRS ERI ES Committed to build a world-class transmission brand

PLANETARY GEARBOX u

905

11}
R LB S SR(INPUT) W6 S 3 (OUTPUT)
RN BE T #l/Performance Ll I
o7
N Y e s L ]
. i Fa MIELE  ADRO64 ADR0O90 ADR110  ADR140 - on (1
4 48 130 270 560 w7 HT—T—1 - TN
B 60 160 330 650 5< 402 /
: 7 50 140 300 550 N el gl s ‘ \
10 40 100 230 450 N EREE \ ~ 2
14 42 140 300 550 . /
il i g .
20 40 100 230 450 J 0 | i = g ~— &
R h4E N 25 60 160 330 650 [ [
Rated output torque T 2N il 35 50 140 300 550 3 Py
40 48 130 270 560 * 42
50 60 160 330 650 4L
2 0566
70 50 140 300 550
100 40 100 230 450
120 50 20 800 580 SINGLE SECTION
200 40 100 230 450 &4 —H- sy h
° s R LEE 1=4 ~ 20
& {& 4 /Emergency stop torque TaNOT Nm 1.2 4~200 = 1E %1 E % H 77 4B /Triple rated output torque R -_J_ ( é‘ T, )_JZ )
FUE B\ F53%/Rated input speed NN rom 1,2 4~200 5000 4000 4000 3000 . .
O ik s ) Rt /Dimension ADRO064 ADRO090 ADR110 ADR140
& A A\ ¥ % /Maximum output speedN 18 rpm 1,2 4~200 10000 8000 8000 6000
* " o . 1 4-20 <4 <4 <4 <4 D 1n7 20 31.5 40 50
¥5 % % Bl /Precision backlash arcmin
T 2 25-200 <7 <7 <7 <7 B 31.5 50 63 80
D3h7 40 63 80 100
1 4~20 <6 <6 <6 <6
#7 % B8 /Standard backlash P2* arcmin
H 9 25-200 <9 <9 <9 <9 D4n7 64 90 110 140
D5 79 109 135 168
1 4~20 <8 =<8 <8 <8
233 3 B /Economic backlash P3 arcmin D6 7 x M5 7 x M6 11xM6 11xM8
2 25~200 <12 <12 <12 <12
H K P Torsional rigidity Nm/arcmin 1,2 4~200 13 31 82 151 D7 86 118 145 179
BAD D8H7 B 6 6 8
Maximuns Do neag oeque M2KB Nm 1,2 4~200 125 235 430 1300 632 602 (00 1392
AU H 15 J1/Allowable axial force Foae N 1,2 4~200 1050 2850 2990 10590 D9 ’ ’ ’ '
&S lLifespan hr 12 4-200 20000% D10 8x4.5 8x5.5 8x5.5 12x6.6
24K [Efficiency % ! & =20 =95% g 3 1; 12 i
(o]
2 25200 >92% = ! 15 7
3 6 6 6
=m ¥ 1 4~20 2.1 5.9 10.5 21.9 L3
£ /Weight g 19.5 30 29 38
= 2 25~200 1.9 4.5 9.8 20.1 Lo
i F33E FE /Working temperature °C 1,2 4~200 (=10° C +90° C) L5 7 10 10 14.6
78 ILubricating & FXJiE 7B BE /Synthetic lubricating grease L6 4 7 8 10
559 %4 /1P Grade 12 i T L8 1145 158 190 248
R 3£ 77 8 /installation direction 1,2 4~200 {2 75 14 /in any direction L9 6 7 7 7
% = rpm, 7 71 3 0.5 1 1 1
N e o ot dB(A) 1,2 4~200 <63 <65 <68 <70 - 70 90 145 200
(% “*” HO¥S[EHS5 TREIMHIA/Need confirm with our engineer for those precision data with * C1
C2 4x M4 4 x M5b 4x M8 4xM12
C3as =14 =19/=24 =24 =35/=42
=P — | = . . . C4 35 54 81 81
TR 52 55 = /Rotational inertia o . i o s
G6 .
oottt on o i AEL  WADR0O64 WADR0O90 WADR110 WADR140 cé 3.5 6 14 19
4~10 0.35 2.25 6.84 23.4 Cc7 60 80 130 180
1 14 0.07 1.87 6.25 21.8 C8 24.2 29.5 45 57
iR e
Rotationaliirtiaﬂ kg.cm? 20 0.07 1.87 6.25 21.8 Cc9 104.5 147 194.5 250.5
9 25~100 0.09 0.35 2.25 6.84 C10 9.5 14.5 27 32
140~200 - 0.31 1.87 6.25 C11 70 100 132 175.5

49



50

ADRSERIES

it \3g(INPUT)

acr

1

110

§C1

DIMENSION

o0
[Ty
009

30",/

D307
D187

1

|~

DOUBLE SECTION
JRIE B i=25~200)

R~ (WF5,

R.=F /Dimension
D1H7
D2
D3h7
D4n7
D5
D6
D7
D8H7
D9
D10
L1
L2
L3
L4
Lb
L6
L8
L9
L10
C1
C2
C3G6
C4
C5G6
Cé6
C7
Ccs8
C9
C10
C11

ADRO064
20
31.5
40
64
79
7xMb
86
5
63.2
8x4.5

4x M4
=14
35
50
3.5
60
24.2
104.5
9.5
70

[l E
- o ;
1 oy
00566
ADRO090 ADR110
31.5 40
50 63
63 80
90 110
109 135
7xM6 11 xM6
118 145
6 6
89.2 109.2
8xb.5 8x5.5
12 12
12 15
6 6
30 29
10 10
7 8
195.5 219.5
7 7
1 1
90 145
4 xMb 4xM8
=19/=24 =24
54 67
70 110
6 11.5
80 130
29.5 42.5
147 160
14.5 27
100 113

i 3% (oUTPUT)

2D10
908 S
VL9

~3J
¢/ N

~t7/

vi2

ADR140
50
80
100
140
168
11xM8
179

139.2
12%x6.6
12
17
6
38
14.6
10
325.5
7
1
200
4xM12
=356/=42
81
114.3
19
180
57
250.5
32
175.5

VRB

AV R ESIERUES] Ccommitted to build a world-class transmission brand

RATEROEN

PRODUCT

FEATURESS
7= En i

TEERSRNMRXE—AREMWIRT, HBESAOAERM,
TERXBHERIRT, BNEMRERURSSHRMSH HEE,
W RBIRBNRESHOEKEIHRCE2, MIRGRENTER T H#M,
WS BENE D REHBNIRIT, MIRERENERRRES,
BN 5 DI MERERBRBMEAR, PERIREKRH%K
ENFRBEENENEE,

RARECER IR, BIFHHAES. LELERS30% ML,
SEFMAGE, EHESERBMASSEMNL,

¢
¢

GOUERYE, ZRESIHIRENMM 5™
HFEES, NHRSBENEEETR,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized

by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.

Series planetary gearbox

WRHNS SN, SaELARTT, BlEmhEy—, sEEeK,

51



VRBR st i I VRBR 5 - I e e e

® FIERYLI4 BE E B /Performance

speiﬂﬁﬁon %H ;‘f}ge @%’;’3 VRBR042  VRBRO60  VRBRO90  VRBR115  VRBR140  VRBR180
3 9 36 90 195 342 588
4 12 48 120 260 520 1040
5 15 60 150 325 650 1200
6 18 55 150 310 600 1100
] 7 19 50 140 300 550 1100
8 17 45 120 260 500 1000
10 14 40 100 230 450 900
12 18 BB 150 310 600 1100
14 19 50 140 300 550 1100
20 14 40 100 230 450 900
15 15 60 150 325 650 1200
25 15 60 150 325 650 1200
R h 4R Nm 30 20 55 150 310 600 1100
Rated output torque T2n 35 19 50 140 300 550 1100
40 17 45 120 260 500 1000
45 14 40 100 230 450 900
50 14 60 100 230 650 1200
9 60 20 BB 150 310 600 1100
70 19 50 140 300 550 1100
80 17 45 120 260 500 1000
90 14 40 100 230 450 900
100 14 40 100 230 450 900
120 18 55 150 310 600 1100
140 19 50 140 300 550 1100
160 17 45 120 260 500 1000
200 14 40 100 230 450 900
21246 [Emergency stop torqueTanoT Nm 1.2 3~200 = 15 %1 % H 71 %8 /Triple rated output torque
U\ FE/Rated input speed NN rpm 1,2 3~200 5000 5000 4000 4000 3000 3000
INDICATION FOR MODEL B A%\ $E Maximum output speedn s rom 1.2 3~200 10000 10000 8000 8000 6000 6000
SELECTION GENERAL NOTICES WEH R PrecisonbackashP ™ arcmin | T
2 15~200 <7 <7 <7 <7 <7 <7
~ < < < < <
) ;H‘L%EP ﬂ%%n—i ° -l %Zﬁ%n R 95 B5 /Standard backlash P2* arcmin ; 12~§80 ;g ;g ;g ;g ;g zg
_ 1 3~20 <8 <8 <8 <8 <8 <8
243578 B /Economic backlash P3 arcmin
2 156~200 <12 <12 <12 <12 <12 <12
H ¥R /Torsional rigidity Nm/arcmin 1.2 3~200 3 7 14 25 50 145
B YFE 3 /Allowable radial force Fas N 1,2 3~200 780 1530 3250 6700 9400 14500
3 w2 BV E 51/Allowable axial force Faes N 1,2 3~200 390 765 1625 3350 4700 7250
[vRBR) == [ 090 J == [ 010 == | 'I‘ J=[rP2 )= %Mﬁo;fi;% _ %ztm;ﬁiﬁiﬁ BB % 4 Lifespan hr 12 3~200 20000+
L b K-gt reference - Ii,&i{?%ﬁit i . H% [Efficiency E ; 22:22(5)0 32;0
Ratio K-Key - ?ﬁilﬁ(ﬁt%ﬂ"]*ﬂm\ﬁﬂ °
3 Skt — AAFRFAH EE E8 Weight kg 1 3~20 0.9 2.1 6.4 13 24.5 51
a4 S-Smooth - DR BB SHEEZRIEBRT 2 25~200 1.2 1.5 7.8 14.2 27.5 54
5 & FI SR & /Working temperature °C 1,2 3~200 (=10° C +90° C)
6 - Type, modeland torque 878 ILubricating & F¥ 5 38 BE /Synthetic lubricating grease
— Ratio or output speed N
; - Working cor?ditiopns and connection methods o Kﬁ?F%g&/lplGrad_e A 1.2 S=200 - la5s o
10 - Quantity and installed machine name ﬁﬁfﬁ””“a“a"on direction 1,2 3~200 £ & 75 [ /in any direction
12 — Input mode and input speed No%ﬁﬁ?};?iggg%ﬁ”ﬁﬁﬁ;d) dB(A) 1.2 3~200 =61 <63 <65 <68 <70 <72
AL 14 — Motor brand model or flange and motor shaft size (% “*” ©MIEH 5 TRMHIL/ Need confirm with our engineer for those precision data with *)
Size 15
gg; 2‘5’ PriE::iEsZion o JHIRALE TR E /Rotational inertia
I\;iiuel gig """ Prei?sffrﬁ;%::ﬁ%:ash Spé@iﬁation %H ;ﬁ;age })%le‘?%it VRBR042 ~ VRBRO60  VRBRO90 ~ VRBR115  VRBR140  VRBR180
ADR 142 200 S 3~10 0.09 035 225 6.84 234 689
VRBR 180 Standard backlash 1 12. 14 0.035 0.07 1.87 6.25 21.8 65.6
ABR P3 2RI Y T AL K s 20 0.03  0.07 1.87 625 218 656
AER Economic backlash Rotational inertia J1 gl 15 0.09 0.35 2.25 6.84 23.4 68.9

2 25~100 0.09 0.09 0.35 2.25 6.84 23.4
120~200 0.007 0.01 0.31 1.87 6.25 21.8

52

53



VRBR SERIES

<

5 \3% (INPUT)
act

45|

-

L4

L2

LS

¢D3
[
DI,

155

L8

Z

L9

L10

DIMENSION

DOUBLE SECTION

o R~F (87, FiELE i=3~20)

54

Dimension(single stage,Ratio i=3~20)

Rt /Dimension

D1
D2je
D3gs

D4

D5

D6

L1

L2

L3

L4

L5

L6

L7

L8

L9
L10

C1

C2

C3
Cdcs
Cbae

Cé6

c7

C8

C9
C10

B1

H1

VRBR042

VRBR060
M5
16
50
70
4x $5.5
80
7
37
60
149.5
28.5

25.3

13
60
70
4xM4
14
50
35
35
104.5
24.2
9.5

|~

(8

- & =
s © =
S ¢ €466
¢ 0566
VRBR090 VRBR115
M8 M12
22 32
80 110
100 130
4% $6.6 4% 9
116 152
10 7
48 60
90 115
203 266.5
36.5 51
8 10
3 5
32 40
6 10
20 28
80 130
90 145
4xMb 4x M8
19 24
70 110
6 14
54 81
147 194.5
29.5 45
14.5 27
6 10
24.5 35

i 413 (OUTPUT)

0Ly

3

Al

=)

]

b\

N4

VRBR140
M16
40
130
165

4x $11
185
13
95
140
359
79
12
5
63
16
36
180
200
4xM12
35
114.3
19
81
250.5
57
32
12
43

VRBR180

VRBR SERIES

R.~F /Dimension

D1
D2
D3
D4
D5
D6
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
Cdce
Cbacs
C6
C7
C8
C9
C10
B1
H1

B\ 3% (INPUT)
act

45|

Committed to build a world-class transmission brand

L1

LS

VRBR042

A

L9

L10

DIMENSION

DOUBLE SECTION

o R~F (W, Rkt i=15~200)
Dimension(double stage,Ratio i=15~200)

VRBRO60
M5
16
50
70
4x $5.5
80
7
37
60
181.5
28.5

25.3

13
60
70
4 x M4
14
50
3.5
35
104.5
24.2
9.5

18

14 & H3m(OUTPUT)
; 0L3
)
\ 2
< m\
NI
' i Mﬁ I
I | |
5 © <
= C466
§ 0566
VRBR090 VRBR115 VRBR140 VRBR180
M8 M12 M16 -
22 32 40 =
80 110 130 -
100 130 165 -
4x ¢$6.6 4x ¢9 4x 11 -
116 152 185 =
10 7 13 -
48 60 95 =
90 115 140 -
240.5 290 431 -
36.5 51 79 -
8 10 12 =
3 5 5 -
32 40 63 =
6 10 16 -
20 28 36 =
80 130 180 -
90 145 200 =
4 x Mb 4 x M8 4xM12 -
19 24 35 =
70 110 114.3 -
6 11.5 19 -
54 67 81 -
147 175.5 250.5 -
29.5 42.5 57 -
14.5 27 32 =
6 10 12 -
24.5 35 43 _

N 6D4

55



AERSE RIS I INTTBIERIRE o o vonsciss vansmisionbrang

Series planetary gearbox
RA1T 2RV

PRODUCT

FEATURESS
7= En i

TEERSHMXE—ARAEMWIRT, HBESKOMERIME,
TERXBHEREIRT, SEMERMRSSWRMESH HEE,
WX ARBNRESHOEKEIHRCE2, MIRGRENTER T H#M,
WS BEME D REHEBIRLT, MIRSEENERRERES,

BN S DIAMEERATNEE AR, MRREKHIR
ENFBERNEHNEE,

RAREPER R, BFHHAES. LELERS30% ML,
SEFRANEE, LECERBASSENL,

IR ER NS, EsERMRIT, BEEaEY—, sEaK,
REQUERIES, ERESNRENTE=HE
HHEES, NHRSHEENTESE, INDICATION FOR MODEL
Planetary boom and output shaft are intergrated N .
structure designed to ensure maximum torsional rigidity. [ J 7"}1%':[3 El_l—% i'% 7~ o ﬁ,—b\[ jﬁj %[[
Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.
The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.
. = - HF BS HE
Gears refer to foreign imported software-assisted design to [ AER J — [ 090 J — [ 010 J — [ K ] — [ P2 ] - Ok ES I, tt; 1 A 5
obtain the best tooth shape to reduce noise. | | Motor T ‘RELTE EER
L b K-ft reference o :\;‘77_1 o
The input terminal is connected to the motor shaft in a double-tight manner Ratio K-Key - BERTENOVME R
to obtain the maximum clamping force and zero backlash power transmission. 3 " - NN ARFIANSBE&E
a Sor - DKW S HELR DRER
) ) S-Smooth
Adopt spiral bevel gear design, allow high output torque, 5
more than 30% higher than straight bevel gear. 6 — Type, model and torque
. ) . 7 — Ratio or output speed
:Ig: totlsrancte 'h%tanpe?d’ molre thtan gtimes 8 — Working conditions and connection methods
Igherthan straig evelgearinput. 10 — Quantity and installed machine name
The meshing tooth imprint of spiral bevel gear has been optimized 12 - Inputmode and input speed )
) ) . . . . AR 14 — Motor brand model or flange and motor shaft size
by optimum design, and the contact tooth surface load is uniform, and long running life. si 15
ize
Cochlear bevel gears are meshed by optimum motion error analysis and 050 20 ’%g
strict process control to ensure high precision running back clearance. 070 25 Precision
2 0% e PR A
Model 120 200 Precision backlash
ADR i P2IT AR I
VRBR Standard backlash
ABR P3 &M
AER Economic backlash

S/



AERSE RIS I INTTBIERIRE o o vonsciss vansmisionbrang

® JF RN BE B Bl /Performance

58

I )\ (INPUT)
sporbE on i g FEH AEROSO  AERO70  AER0S0  AERI20  AERIS5  AER205 ot L4 3% (OUTPUT)
3 9 36 90 195 342 588 45 L1
4 12 48 120 260 520 1040 < Pl L3
5 15 60 150 325 650 1200 P
6 18 55 150 310 600 1100 (
1 7 19 50 140 300 550 1100 | y
8 17 45 120 260 500 1000
10 14 40 100 230 450 900 L o
12 18 b5 150 310 600 1100 ¥
14 19 50 140 300 550 1100 a1 /) L1 10
20 14 40 100 230 450 900
15 15 60 150 325 650 1200 . Py &
25 15 60 150 325 650 1200 = Ylls
FEH 56 Nm 30 20 55 150 310 600 1100 = 0 (46
Rated output torque T2n 35 19 50 140 300 550 1100 M ;C—S&
40 17 45 120 260 500 1000
45 14 40 100 230 450 900
50 14 60 100 230 650 1200
9 60 20 b5 150 310 600 1100
Dononomowmom o DIMENSION
80 17 45 120 260 500 1000
90 14 40 100 230 450 900
100 14 40 100 230 450 900 SlNGLE SECT|ON
120 18 55 150 310 600 1100 R~ (83, JEEE EE i=3~20)
140 19 50 140 300 550 1100 , , , o
160 17 45 120 260 500 1000 DlmenS|On(S|ng|e S’[age,RatIO |:3~200)
200 14 40 100 230 450 900
2151 %E /Emergency stop torqueTonOT Nm 1,2 3~200 = fE5E %t 1 %8 /Triple rated output torque R.~F /Dimension AERO50 AER070 AER090 AER120 AER155 AER205
HUE 1 \ 1% /Rated input speed NN rom 1,2 3~200 5000 5000 4000 4000 3000 3000 D1 - M5 M8 M12 M16 -
& K\ ¥ 3% /Maximum output speedN 18 rpom 1.2 3~200 10000 10000 8000 8000 6000 6000 D2i6 = 16 22 32 40 -
¥ %45 B8 /Precision backlash P1* arcmin ! =20 = =& =2 =2 =4 =4 D3gs6 - 52 68 90 120 -
2 156~200 <7 <7 <7 <7 <7 <7 D4 = 62 80 108 140 -
KRS B /Standard backlash P2* arcmin ! 38~20 =6 =6 =6 =6 =6 =6 D5 - M5 M6 M8 M10 -
2 15~200 <9 <9 <9 <9 <9 <9
235 4B /Economic backlash P3 arcmin ! 3~20 <8 <8 <8 <8 <8 <8 b6 i 17:5 275 375 475 i
2 15~200 <12 <12 <12 <12 <12 <12 L1 - 6.5 8 17 15 -
%54 /Torsional rigidity Nm/arcmin 1.2 3~200 3 7 14 25 50 145 L2 - 36 46 70 97 -
FVF1E 73 /Allowable radial force Foss N 1,2 3~200 780 1530 3250 6700 9400 14500 L3 _ 28 5 36.5 5] 79 _
2 YF4 ) 71/Allowable axial force Fzas N 1,2 3~200 390 765 1625 3350 4700 7250 La B 1495 203 266.5 359 _
% @ /Lifespan hr 1,2 3~200 20000 *
MK [Efficiency % 1 3~20 95% L5 - 4 6 10 16 -
2 25~200 92% L6 - 13 20 28 36 =
- ) 1 3~20 0.9 2.1 6.4 13 24.5 51 L7 - 3 3 5 5 -
F& IWeight kg 2 25-200 1.2 15 7.8 142 275 54 - -
: : : : : L8 25.3 32 40 63
8 F3 38 & /Working temperature °C 1,2 3~200 (=10° C +90° C) C1 B 60 80 130 180 B
JE 78 /Lubricating & B 38 g /Synthetic lubricating grease
B33P Z /1P Grade 1,2 3~200 IP65 2 ) /0 90 145 200 )
2% 7718 /Installation direction 1,2 3~200 £ & 75 18 /In any direction c3 B M4 M5 M8 M12 B
N (m=s000 ER) dB(A) 1,2 3-200 <61 <63 <65 <68 <70 <72 Cge - 14 19 24 35 -
(# “x" MHESS5I#EIHHIA/Need confirm with our engineer for those precision data C5(36 _ 50 70 1 1 O 1 143 _
TR M 4% 51 = /Rotational inertia gj - 22 564 :;: 1891’ -
Spez?;ic’fgaﬁon %rﬁ% ;v;%ie @;ﬁgb AER050  AERO70  AER090  AER120  AER155  AER205 cs ~ 105 147 194 5 253 ~
3-10 0.09 035 225 6.84 234 689 co i 242 205 15 5 i
1 12. 14 0.035 0.07 1.87 6.25 21.8 65.6
- - 20 003 007 1.87 625 21.8 656 C10 - 23 159 2 £2 -
Rotational inertia J1 15 0.09 035 225 684 234 689 B1 - 6 10 12 -
2 25~100 0.09 0.09 0.35 2.25 6.84 23.4 H1 = 18 24.5 &5 43 =
120~200 0.007 0.01 0.31 1.87 6.25 21.8

59



AERSERIES

L RRRRIREY co et o o vori-cass ranamissionbrand

& \3k(INPUT) \
Oct U 8 H3%(OUTPUT)
45 L2 Series Planetary Gearbox
P 13 : N T E &
i e\ RV T RREN
) 1 %
J < \ /
= D // 4-Ds
1 1 \{}/
43 1 I [ [ PRODUCT
B149 g 4 o = @ _ S FEATURESS
W &b’ 15 30_536
BN FEBESHHBRA—ARERT, HREAOTERM,

TERXAHERERT, BNERBERURESEHRMSH HEE,

D I M E N S I 0 N B BRBENR TSR BIHRCE2, MBS MM BE R b H 7,
B MRS DR ARG, ISR RS,
DOUBLE SECTION A S DA ERATARE R, MRE AT

ENRNBEHENAENEE,

—+ A= el -
N 7 e o . .
E _J- ( XX P /)EJZJE [:t =15 200) RAWELERIRIT, BFHHASES. HEEERS30% UL,
Dimension(double stage,Ratio i=15~200) ERUEE A, LECEREASSE L,
R~F/Dimension AERO050 AERO70 AERO0%0 AER120 AER155 AER205 SEERMRT, BERSEREY—, sEEGK.
b1 - M5 M8 M12 M16 - BECERME, SREENZEMTSFE
D2 - 16 22 32 40 - HHIRERES, WBRSEENZETE,
D3 - 52 68 920 120 -
D4 - 62 80 108 140 - Planetary boom and output shaft are intergrated
D5 - M5 M6 M8 M10 - structure designed to ensure maximum torsional rigidity.
D6 h L7 —— 75 £ h Planetary wheel with full needle design,increase the contact
L1 - 6.5 8 17 15 - area to improve the rigidity and output torque.
L2 B £ Lo & 77 ) The gears are carburized and quenched to the HRC62 with low carbon
L3 - 28.5 36.5 51 79 - steel surface for optimum wear and impact toughness.
L4 B 12118 2505 2510 Sl B Gears refer to foreign imported software-assisted design to
L5 - 4 6 10 16 - obtain the best tooth shape to reduce noise.
L6 - 13 20 18 36 = : : : :
The input terminal is connected to the motor shaft in a double-tight manner
L7 - 3 3 5 5 - to obtain the maximum clamping force and zero backlash power transmission.
L8 - 25.3 32 40 63 - : : :
Adopt spiral bevel gear design, allow high output torque,
C1 - 60 80 130 180 - more than 30% higher than straight bevel gear.
C2 - 70 90 145 200 = : : :
High tolerance input speed, more than 8 times
C3 - M4 M5 M8 M12 - higher than straight bevel gear input.
Cdae - 14 19 24 3B - ) : ) ; -
The meshing tooth imprint of spiral bevel gear has been optimized
Cb5ae - 50 70 110 114.3 - by optimum design, and the contact tooth surface load is uniform, and long running life.
C6 - & 6 11.5 19 =
Cochlear bevel gears are meshed by optimum motion error analysis and
C7 B 35 54 67 81 - strict process control to ensure high precision running back clearance.
C8 - 105 147 178 253 =
C9 - 24.2 29.5 42.5 57 -
C10 - 9.5 14.5 27 32 =
B1 - 5 6 10 12 -

H1 - 18 24.5 36 43 -



PFR SERIES I PR S - R = e

PLANETARY GEARBOX

® RN BE R B} /Performance

e Bl e R PFR042  PFRO60 PFRO80  PFR115 PFR142
3 8 18 40 125 290
4 18 36 90 230 460
5 16 40 110 260 550
6 8 20 40 90 340
] 7 8 20 40 920 340
8 5 12 22 70 210
10 5 12 22 70 210
12 8 20 40 90 340
14 8 20 40 90 340
20 5 12 22 70 210
15 16 36 90 125 550
25 16 36 90 260 550
W 4B Nm 30 16 36 90 125 290
Rated output torque T 2N 35 16 36 90 260 550
40 16 36 90 230 460
48 18 40 110 230 460
50 16 36 90 260 550
) 60 16 36 90 230 340
70 16 36 90 230 340
80 16 36 90 230 460
INDICATION FOR MODEL 90 16 - 90 230 290
SELECTION GENERAL NOTICES m e w @ w9
120 8 22 55 125 340
) = p— e ITE’H
*ﬂ%q]:t—gi%/_.ﬁ 1 T\/J\%D 140 3 22 55 125 340
160 5 15 50 120 210
200 5 12 22 70 210
£ {247 45 /Emergency stop torqueTanNOT Nm 1,2 3~200 Z RE % i Y 77 4B /Double rated output torque
_ w2 T N\ F % /Rated input speed NN rpm 1,2 3~200 4500 4000 3500 3500 3000
(PFR) == (090 ) mm | 010 |mm | K || P2 |mm miizis . BS. e _ o
| Motor — BUOE EE S S0 dh R £ K\ %% Maximum output speed N18 rom 1,2 3~200 10000 8000 6000 6000 4500
i reference - ITRAREEAR 1 3~20 <22 <16 <10 <10 <10
/an;- ltkgeg - BERRENVRE R AR B /Standard backlash P2 arcmin
a3|0 Uy L AR BRI S 2 15~200 <26 <18 <12 <12 <12
: S?S-rjntoﬁh L DA ME SRR Tk R HLE B Morsional rigidity Nm/arcmin 1,2 3~200 0.65 1.8 4.7 11 35
5 IR B 11/Allowable radial force Fas N 1,2 3~200 165 240 400 1240 3700
6 - Type, model and torque .
7 — Ratio or output speed B VF i E F/Allowable axial force Fas N 1,2 3~200 135 220 420 1000 3500
3 - Workirjg cond.itions and con.nection methods 1% /Lifespan hr 1,2 3~200 20000 *
10 — Quantity and installed machine name
15 - Input mode and input speed N o 1 3~20 96 %
A 20 — Motor brand model or flange and motor shaft size M [Efficiency % 2 25~200 94%
Size 25 1 3~20 0.3 0.85 2 6 11
042 35 wE B8 /Weight k - ’ '
| 060 40 Precision - ¢ 2 25200 04 0.9 2.3 7.5 13
RA 080 4k oo A ey
M?oiel 115 :g Prei?sﬁrﬁi&%sh {8 FR & /Working temperature °C 1,2 3~200 (=10° C +90° C)
;EE 142 70 P2 iR A B8 /Lubricating & Al 38 BE /Synthetic lubricating grease
‘1’30 Sta"dzfd;“';:s“ B4 %48 /1P Grade 1,2 3~200 IP65
P3 & FHR N
------ Economic bi:klash %% 77 6] /Installation direction 1,2 3~200 £ 2 77 [8] /In any direction
200 Nk 3000 ERH) dB(A) 1,2 3~200 <60 <60 <63 <68 <75

62



PFR SERIES I e

o A% 5 [R & /Rotational inertia

1 12, 14

2 25~100
120~200

PFR042

0.03
0.03
0.03
0.015
0.01
0.005

A BAr B
Specification Unit Stage
R E kg.cm?

Rotational inertia J1
Hiti 3 (OUTPUT)

o 1
= —— &
$ s
/ \
j

&\

3

o
ﬂ‘_@

DIMENSION

F |

SINGLE SECTION —=—

o« R (%W, AEti=3~20)
R~F/Dimension PFR042
D1 -
D2 =
D3 -
D4 =
D5 -
D6 =
D7 -
L1 =
L2 -
L3 =
L4 -
L5 =
L6 -
L7 =
L8 -
L9 =
L10 -
C1 =
C2 -
C3 =
C4 -
CB =
C6 -
C7 =
Ccs8 -
C9 =
C10 -
B1h9 =
H1 -

o4

PFR0OGO
70
B
14
50
17
Mb
80
60
35
3
2
25
2.5
8
163.5
4.8
12
70
M4
6-14
35
50
3.5
60
16
100
9.5

PFR0O80

100
6.5
20
80
25
M6
120
90
40
3
1
25
5
10
204

18
90
Mb
14-19
54
70

80

30
137
14.56

22.5

PFR0O80 PFR142
0.75 5.8
0.45 1.9
0.39 2.73
0.45 8.3
0.2 2.3
0.18 2.1

4 A3 (INPUT)
® €
K
B
PFR115 PFR142
130 185
8.8 11

25 40

110 130

35 55

M10 M12

160 230

120 176

55 87

4 5
1 2

40 65

5 5

14 15

288 340.5
7.5 9.5

23 25

145 200

M8 M12

16-24 22-35

81 81

110 114.3

14 19

130 180

45.5 57.5

192 246.5

27 32

8 12

28 43

PFRSERIES

% it 3% (OUTPUT)

Ot

—

Committed to build a world-class transmission brand

L7

’\‘f
I

Z
=
[9

clo
8

R~f/Dimension
D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
C4
(@5
C6
C7
C8
C9
C10
B1h9
H1

203

205

DIMENSION

DOUBLE SECTION

o R~ (WA, BEELE i=15~200)
Dimension(double stage,Ratio i=15~200)

PFR0O42

PFR0O60
70
5.5
14
50
17
M5
80
60
35
3
2
25
2.5
8
172.5
4.8
12
70
M4
6-14
35
50
3.5
60
16
100
9.5
5
16

Lificho

Shafttype S

PFR0O80
100
6.5
20
80
25
M6
120
90
40
3
1
25
4
10
228.5

18
90
M5
14-19
54
70

80
30
137
14.5

22.5

I (INPUT)

=
-

PFR115
130
8.8
25
110
35
M10
160
120
55
4
1
40
5
14
288
7.5
23
145
M8
16-24
81
110
14
130
45.5
192
27

28

L1o

PFR140
185
11
32
130
40
M12
230
176
87

65

15
388.5
9.5
25
200
M12
22-35
81
114.3
19
180
57.5
246.5
32
12
43

65



PLRSERIES I TIRRRRIRE . o it 3 ori-cass ransmissionbrang

Series Planetary Gearbox
RANTTEREYL

PRODUCT

FEATURESS
i

TEBRSRNMRXB—AREMIRIT, HESAOAERM,
TERXBHERERT, BNERBRURESEHRMSH HEE,
W R BIRBINR IS BEKEIHRCE2, MRS RN BT H3#14,
WS BENE DRAHBNIRIT, MIRERENERERIES,

NG S BIRERERARBEE AR, MWRBRE&EAHIE
ENRNBEENENEE,
RAWESER IR, FIFEHAES. LE RERE30% UL,
SRFRAEE, LECERBASSEMNL,

SOURNINS R, SREMART, BMETmREy—, TEEGK,

REPERIE, ERESEHNREMTS=H

HHIRERES, WBRSBENSETE, INDICATION FOR MODEL
Planetary boom and output shaft are intergrated . .
structure designed to ensure maximum torsional rigidity. [ J 7!‘)1%':]] ﬂ—% i‘% 71~ ® 'E.—b\, jﬁ':l %D
Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.
The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.
- MR, BS HE
i P ; PLR | mm | 090 | == | 010 | wem — - Ik A S
Gearls refer to foreign imported softwarelasmsted design to [ J [ J [ J [ K ] [ P2 ] P ith=) _ RS D
obtain the best tooth shape to reduce noise. | | Motor N 4
L reference - TRREETN
The input terminal is connected to the motor shaft in a double-tight manner /ER;io ltl(%y - BERTENNWHS R
to obtain the maximum clamping force and zero backlash power transmission. 3 S-Sk - ANNARFINSE
4 $-Smooth - DA ME SHKERIKMR T
Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear. Z — Type, model and torque
— Ratio or output speed
. . _ g 7
H‘\gh tolerance \lnput speed, movle than 8 times 8 — Working conditions and connection methods
higher than straight bevel gear input. 10 — Quantity and installed machine name
The meshing tooth imprint of spiral bevel gear has been optimized 15 - Inputmode and input speed .
. ; i ) . . . AR 20 — Motor brand model or flange and motor shaft size
by optimum design, and the contact tooth surface load is uniform, and long running life. si
ize 25
Cochlear bevel gears are meshed by optimum motion error analysis and 042 35 *%E.
strict process control to ensure high precision running back clearance. 060 40 Precision
B 080 50 ] "
P1IEZER
Model 120 60 Precision backlash
PFR 160 70 PR AR
PLR 80 Standard backlash
100 P3&5F 1R
------ Economic backlash
200

6/



PLRSERIES I

PLANETARY GEARBOX

® F RV BE F B /Performance

68

oo b ion S i AEL  pLRO42 PLRO6O PLROSO PLR120  PLR160
3 8 18 40 125 290
4 18 36 90 230 460
5 16 40 110 260 550
6 8 20 40 920 340
7 8 20 40 920 340
1 8 5 12 22 70 210
10 5 12 22 70 210
12 8 20 40 920 340
14 8 20 40 920 340
20 5 12 22 70 210
15 16 36 90 125 550
25 16 36 90 260 550
R N 30 16 36 90 125 290
Rated output torque T 2N 35 16 36 90 260 550
40 16 36 90 230 460
48 18 40 110 230 460
50 16 36 90 260 550
) 60 16 36 90 230 340
70 16 36 90 230 340
80 16 36 90 230 460
90 16 - 90 230 290
100 16 36 90 230 550
120 8 22 55 125 340
140 8 22 55 125 340
160 5 15 50 120 210
200 5 12 22 70 210
241 46 /Emergency stop torque TonoT Nm 1,2 3~200 Z fZHUE % i 1 4B /Double rated output torque
BUE N\ ¥ #/Rated input speedNiN rom 1,2 3~200 4500 4000 3500 3500 3000
B KH A B % /Maximum output speed N18 rom 1,2 3~200 10000 8000 6000 6000 4500
158 /Stonderd backlach P aremin 1 3~20 =22 <16 <10 <10 <10
2 156~200 <26 <18 <12 <12 <12
H R4 /Torsional rigidity Nm/arcmin 1,2 3~200 0.65 1.8 4.7 11 35
BVFE [ 71/Allowable radial force F2as N 1,2 3~200 165 240 400 1240 3700
2445 J1/Allowable axial force Fzas N 1,2 3~200 135 220 420 1000 3500
£ % @ /Lifespan hr 1,2 3~200 20000 *
K [Efficiency % 1 3~20 96%
2 25~200 94 %
5 Weight kg 1 3~20 0.3 0.85 2 6 11
2 25~200 0.4 0.9 2.3 7.5 13
{8 FAR & /Working temperature °C 1,2 3~200 (=10° C +90° C)

& AR B PE /Synthetic lubricating grease
B33 E R /IP Grade 1.2 3~200 P65
L% 77 [ /Installation direction 1,2 3~200 £ & 75 [8) /in any direction
W& (3000, 7 A1) dB(A) 1,2 3~200 <60 <60 <63 <68 <75

Noise level (n1=3000, off load)

piipic] /Lubricating

I TERBR ... o buis o worc-class vensmisionbrang

T IR % 505 = /Rotational inertia

I =Ry il !

S i i AEWL  PLRO42  PLRO60  PLROSO  PLR120  PLR160

3~10 0.03 0.136 0.75 2.5 5.8

1 12,14 0.03 0.09 0.45 1.3 1.9

iR R S 20 0.03 0.09 0.39 1.2 2.73

Rotationalinertia J1 15 0.015 0.09 0.45 2.4 3.3

2 25~100  0.01 0.035 0.2 1.4 2.3

120~200  0.005 0.035 0.18 1.3 2.1

8
mgiliﬁ (outpuT) u " ‘ w $\J (INPUT)

9

ﬂ BERE

IS Shafttype K

DIMENSION e
SINGLE SECTION == & e

©
Yl
®

ot

Lo

o R~F (&Y, REuEtbi=3~20)

R~ /Dimension PLR042 PLRO60 PLR08O PLR120 PLR160
D1 - 52 70 100 145
D2 = M5 M6 M10 M12
D3 - 14 20 25 40
D4 = 40 60 80 130
D5 - 17 25 35 55
D6 = M5 M6 M10 M12
D7 - 60 80 15 162
L1 = 60 80 115 142
L2 - 35 40 55 87
L3 = 3 3 4 5
L4 - 2 1 1 2
L5 = 25 25 40 65
L6 - 2.5 5 5 5
L7 = 13 21.5 40.5 32.5
L8 - 153.5 204 288 340.5
L9 = 4.8 5 7.5 9.5
L10 - 12 18 23 25
C1 = 70 90 145 200
C2 - M4 M5 M8 M12
Cc3 = 6-14 14-19 16-24 22-35
ca - 35 54 81 81
C5 = 50 70 110 114.3
cé - 3.5 6 14 19
c7 = 60 80 130 180
cs - 16 30 455 57.5
co = 100 137 192 246.5
C10 - 9.5 14.5 27 32
B1h9 = 5 6 8 12
H1 - 16 22.5 28 43

69



PLRSERIES R SERIES
e 00T = — AR (INPUT)
[OLI
s
Series Right-angle Gearbox
[ -
| A R ROV PR
2 | -
T L s MAAK
ﬁ g sl Shamype;@ 't 6 L5
1L i @/E =
* Buia 1) PRODUCT

FEATURESS

DIMENSION PR

DOUBLE SECTION

5% %
o R~ (W, Wit i=15~200) RIS
B OTREE P EKIB
R~F/Dimension PLR042 PLR0O60 PLR0O80 PLR120 PLR160
D1 - 52 70 100 145 (RIS et |
D2 - M5 M6 M10 M12
D3 - 14 20 25 40 BTG INFRIR T AT R B AR AT B AL o
> ] ® ” o e RERS, KESSHDAREREN .
D5 - 17 25 35 55
be - Mo Ve M1 Mi2 SRAWE (D0, ToRb. WEREH ),
D7 - 60 80 115 162
L1 - 60 80 115 142 EERHEN . REYP
L2 - 35 40 55 87
L3 = 3 3 4 5
L4 - 2 ! 1 2 R series adopts worm bevel gear desig n.
L5 - 25 25 40 65
L6 _ 25 5 5 5 The backlash can adjust according customers' requirements.
L7 - 13 21.5 40.5 82.8 .
Lower noise.
L8 - 172.5 228.5 288 388.5
L9 - 4.8 5 7.5 2.5 The delicate shell design can be matched with any direction.
L10 - 12 18 23 25
o B 70 90 e 200 Easy installation,can multi-match each motor or gearbox.
c2 - M4 M5 M8 M12 Multiple output(hollow output,solid output or dial output).
C3 = 6-14 14-19 16-24 22-35
ca _ 35 54 81 81 Multiple output,maintance-free.
CB = 50 70 110 114.3
C6 - 3.5 6 14 19
Cc7 - 60 80 130 180
C8 - 16 30 45.5 57.5
C9 - 100 137 192 246.5
C10 - 9.5 14.5 27 32
B1h9 = b 6 8 12
H1 - 16 22.5 28 43

70



72

R sSERIES I

INDICATION FOR MODEL

SELECTION
o HIFAES KR

[(Rs ) == (090 ) == 005 |mm mixiiis

Motor
L HE reference
Ratio
1
2
3
5

P S
Size
042
060
77 090
Model
RS
RD
RH

GENERAL NOTICES

1T 527 Al

- HF, BS HE

- RIEE S N R

- ITRAREEFR

- BERTEKAOVMA R

- ANATROANHER

- DA BB SHEAZRIAMR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods
— Quantity and installed machine name

— Input mode and input speed
— Motor brand model or flange and motor shaft size

R SERIES

PERFORMANCE DATA OF

SPEED
REDUCER

® R4 BE B Rl /Performance

BIEALES/Model
SME R~F/Frame size
1 E H1 H 41 %6 /Rated output torque
£ K fi i # %6 /Maximum output torque
T 1 \ 5 3/ Rated input speed
B KB ¥ 3% /Maximum input speed
A3 EE/Reduction ratio
# B/ Backlash
2 ¥ 12 1 % / Allowable radial load
725 ¥ 4 ) $ Zk/Allowable axial load
) N #h 12 /Input shaft size
# %)) 1 & / Rotational Inertia
% R P4/ Torsional rigidity
1T % v /Rated lifespan
&K | Efficiency
T 1% 8 &/ Working Temperature
1 ¥ 75 18]/ Rotation direction
B3 37 % 2R/ Protection Level
3858 77 =/ Lubricating method
& %5 77 16/ Installation direction
1% & /Noise Level

& 8 /Weight

RS/WRH / RD042 RS/WRH / RD060 RS/WRH / RD090
42 60 190
15N.m 30N.m 60N.m

21 %1 7 % H4 #1045 /2 times rated output torque
1500rpm 1000rpm
2000rpm
2.3 s 2 & B
15 B3 o7 I /Adjustable backlash
300N 500N 1200N
150N 200N 500N.
<11/ <12 (mm) 14/ <16 (mm) <19/ <24 (mm)
0.02kg -+ [em]® 0.06kg * [cm]’ 0.4kg - [cm]’
1.2Nm/arc min 1.5Nm/arc min 5Nm/arc min
10000h ( #i7E 1 % &% 51 F 8 A\ % 3% £ #£ T/Condition under rated load and rated input speed )
95%
-10°C ~80°C
5 #5 N #h4H & /Opposite with the input shaft
IP65

BE 718 78 /Grease Lubrication
£ & 77 [8 /in any direction
<62dB(A) <65dB(A) <65dB(A)
0.7Kg 1.3Kg 4.1Kg

/3



74

R sSERES I

R~t/size
A
Al
B
B1
B2

[T‘ 2C1 (PCD)
=
( |
f\\@/ ()
|
2C (PCD)
. )
ﬁ‘f\.
HEOy
N
i
T
o
= I |I
N
B /'@/ ‘
w o 7 el =
- T ERE
s | o
=/ Tol
RD04202/03 RD06001/02/03/05
42.5 60
42.5 60

4—M3 R Depthd
4—-M3 R Depthd
4—M3R/Depth6

48

42

35

3

94

21

36

68

12

13.5

26

47

10

21.25

4—M4F Depth5
4—M43R Depth
4—- M5 Depth] 0

70

46

36

3

125

27

52

98

14

16

34

64

16

30

=

|8
o2 (PCD) L \ Bt

RD09001/02/03/05
90
90
4—M5 2R IDepth
4—MB53R Depth8
4—-MB R Depth1 2
100

93.5
25

45

SERIES

oC1 (PCD)
RS =
ﬁ/\Q\
( |
e e
al
X C(PCD)
» <
N
)
W
6L
o |-l
A [
L .
¢ " AT ]
= y ° \ /] /7”712%;[ 5
p = s ‘
2 22(PCD) I I
¢
R~T/Size RS04202/03 RS06001/02/03/05
A 42.5 60
A1l 42.5 60
B 4-M33R Depthd 4 —M 4R Depth
B1 4-M3 R Depthd 4—M43R IDepth
B2 4—M3R/Depth6 4—MBR Depth] O
© 48 70
C1 42 46
C2 85 36
D 3 3
E 74 97
F 21 27
G 36 52
G1 68 98
H 12 14
| 13.5 16
K 26 34
@) 47 64
S 10 16
T 4 5
X 21.25 30

!
202(pCD) W

RS09001/02/03/05
90

90
4—MB 2R IDepth8
4 —MB5 R Depth8
4—MB6 %R Depth1 2

100

70

60

3

136.5

35

80

129

19

41
93.5

25

45

75



SERIES I T SERIES

( \ Series Hollow Rotating Platform
/ It NVAPAN
0.’ |0 RYh DTG

X 20(PCD)
%
; ﬁs \ PRODUCT
Jah
N FEATURESS
A o iR
B -
I Gl A
L
N ] EEBUEEEETESH, BRARKNAEMS.
T [T I;;I
: g ' n ' ' =HEE, EEEMAEE T + 15arcsec.
=)' d . B /@, T \K/\.
. > o ( \/ T e \/ N\ \/ faR R, BAREHHEEM,
AN
J S |1 o L Y /\< . et ke
» bl -+ -\ A& KO ERFOSH B,
= ) - o200m) \ bt
G
R~F/size A2 RH06001/02/03/05 HATOOTEZIET The rotating table allows for mounting the workpiece
A 42.5 60 90
Al 425 60 90 directly for improve the convenience of installation.
B 4—M3 3R Depthd 4 —M4 R Depth 4—MB53R IDepth8 ; - .
i . . High precision,repeated positioning accuracy can up to + 1barcsec .
B1 4—M3R Depthd 4 —M4 3R Depthb 4—-MB R Depth8
B2 4 - M3 R /Depth6 4 —MB R Depth1 O 4—MG3R Depth1 2 . . :
Hollow design, convenient for connection
C 48 70 100
c1 42 46 70 both for cable and pipe.
C2 35 36 60 .
5 3 3 3 Match all servo & step motor for different brands.
E 65.5 88 125
F 8 10 16
G 36 52 80
G1 68 98 129
H 8 14 20
| 25 34 54

K 26 34 50
0 47 64 93.56
T 12.5 18 25
X 21.25 30 45




INDICATION FOR MODEL

SELECTION

° HlAE SRR

[ 7)== (060 ) m=|005 )mm ixzs

A&

Size

060

100

Bl 130

Model 200
T

/8

Motor
L reference
Ratio
5
10

GENERAL NOTICES

1T 5270 A0

- M BS. HE
- BRI N R

- ITRREZEAR

- BERTENAVME R

- ANABTROANAER

- DR BB SHFEAZRDAMRT

- Type, model and torque
— Ratio or output speed
— Working conditions and connection methods

— Quantity and installed machine name
— Input mode and input speed
— Motor brand model or flange and motor shaft size

T SERIES

PERFORMANCE DATA OF

TABLE

b 2= JE 45 £ & M fE 3k /Rotating platform performance

e

Item No.

BHOKES
Servo motor type

R 6 K
Supporting rotary platform bearing
IR L
Ratio
gl
Inertia moment
S VF B AR

Allowable output torque

HUE R
Rated output speed

BEEDEE
Angle transmission precision
EREERMBE
Reset positioning precision
P
Backlash
St VFEh 1) 1 3K
Allowable axial load
RIS 5B
Allowable moment of inertia
MERETE PR
Parallelism of rotating platform
MR A EE

Concentricity of rotating platform

1%
Noise
B33P E R
Protection level
58
Weight
//
6XM3Depths EQS
BXU3D: 9
/o
/ 200 |
S s
| axesss

2xF4Depth

T060

42845 1t Tk

T100

50w~100w1a iR ©.41
42 step motor 50W-100W servo motor

T130
57 4 # 51K

200W~400\WH1a ik B4
57 step motor 200W-400W servo motor

TH R BB RBE R+ B R TR
Deep groove ball bearing Deep groove ball bearing + Tapered roller bearing
5:1 10:1 10:1
-7 2 -6 2 -6
2330*10 "kg *m 3898*10 "kg+*m 9216*10 "kg+*m
5N.m 25N.m 45N.m
200r/min
3arcmin
+ 1barcsec
TR (TP EY )
No backlash (Adjustable structure)
100N 300N 400N
TON.m 20N.m 50N.m
<0.015 <0.02
<0.015
65dB
IP40
0.6kg 1.2kg 2.8kg
39
3 2Xo4,5
= 257 8
g 4— — L 229 <2
1
I
I 230H7 (% ")
| BEhezRd
A BiesiR22
2 J Mounting hole for motor boss
68 | Input shaft @8Depth22

T200
86T 4 1 T3k

750W1g BR BB H
86 step motor 750W servo motor

10:1
85792*10°° kg * m
80N.m

2

800N
1T00N.m
<0.04
<0.02
67dB

9.6kg

50402

axastr (%)

AXWRL B
EFS< 3

042 4XM4Depth12 EQS

Motor installation hole

79



80

T SERIES

T100

780.1 415 13 85
7040.1 10.5 12
5.5
34.340.1 r\m" 4X26. 5387 Through-hole 05 ] ‘
o | ﬂ} } “%
262, 5 | I 2
0N |/ \\ ______ L o
/ \‘/ \ ® 2XM2.5%4 |~ ¢ LRI |
- - x == N
: . o | og
o —(— e § ————— = 5T — =
/\ B & o B S
\ /| / £ § .
N Y R R — 7 = g -
NN / [ \K §
% TG L -
1 ~— 1 T
). 012, . ol ol \
} 6XMATE\2Xa5H7 (§ 12 WL Thioug a0 CE™) 7 TN "
N2
257 (8 %) ¥6 HBAR2BT23 —\f‘g‘ —
Input shaft@8¥23
042 4XMAV 123545 EQS
T3k 33EFL /Motor installation hole
80 55
2120+0.1
110+0.3 65 s 150
N . 12.5 -
2xe5(3 ") W 6XUEHRon8 205 (") Poun KB
Through-hot§’ jgai Eas 45,*
o141 ] b/ ///eZ& @ @7
o104 |K/ ~ -
2106 | 8
0 e ’3‘
—| ™ £ 2XM2. 5¥oeon4 |t g | .2
S| =) T go| T o
41 i P— I Sl ~f 7 L R S
'g' gl 3 L L 1 ]
g|= 8 ] g
N 1) o -
]
o
4Xe9EFL
4x & 9 Through-hole PCDB70
BABho147834 AXMAFE epn12
Input shaft m‘A [Depth 34 _u”ti%%
250k G 60 Motor installation hole
108. 5 250 Motor boss 80
186:£0. 1 69.5 200
17040.3 24 15|
‘ 12
2X28H7 ('8 %) Pivepn 8 30° B XMEPR10, 394 .5 L8
\K/ 6XM6Depth10, EQS Ll 3
< § = \ =
/ I | >
2XM2. 53 Depin 4| ‘ =
S SR | g
- -8 £ |
? Y L Go| o7
H 3= g -——s g ER S Y N DN R
g g ST ! o
N ¥ ¥ &
o
2210 sl S g
T ¢ V| &
- - 1
4% B Mhvough-hofe ) s ’Z;;ﬁ’;’;%” 90
ViFLe1789. 5 j ~ 1 -
Countersun &17Depthg.5 Tk £70
Motor boss & 70 090 N zyﬁgﬁ‘{’és EQSSﬁ
130
128 Motor installation hole

Committed to build a world-class transmission brand

INSTALLATION OF

PLANETARY REDUCERS

ﬁkﬁ*ﬂ? % 77_% /Gear motor installation method

RENIBREIGE, BEFIATER,
TERENDRLREEZTHRTRARI AR, BURLTERKECHEARDIE, (#ssRBTHNFER0RRD., )
AR DIANH T AR EH BN S,

E =amam, snzgpgsimmes
FLo LLESHEHIAND B 845 20 F#A 30K
Ao WRENEE R BET R, ©
REMNDAR LT L, (W0EH
£, FRERHETRE, )

E B oA EEHFER. BFEE TS,

Locking
) shaft
Fastening sleeve
bolt BHE

B sssoumemmsmamams s
A, N DA SRR
TR, A% 0EEREEED AR
e, (20%3)

&3 B REEE

Diagram 3 Bolt fastening torque

124 K]\ Bolt size M3 | M4 | M5 | M6 | M8 | M0 | MI12 | M16
ok
Lt N-m 1.0 25 5.1 8.7 21 42 72 134
Motor
mo;gtt‘”g kgf*m | 011 | 026 | 052 | 089 | 21 43 7.3 14
sxgie | VM 19 | 43 | 87 15 36 | 71 | 125 | -
Fastening
bolt kaf-m | 018 | 044 | 089 15 37 | 72 13 -




82

E srmerzzra, snesssan
EEER NGRS, (BRE3)

SRIMBE=5p (PRIZ=2!)
Install it to the output flange (limited to the flange model)

TR5inE

Installation and setting up
BREEEEMIFKNGEER, (0FE, Mg L.
KEOBFRER, BEXERATEE, )

HIRBETEO ~ 40°CHIIREE P,

BRECEBLRAINET, ABREMLEE,

REE, NRIHEFRFFNE,

ibibMErE

Output shaft connecting

EWEEZR EREER. RiER. HREN, BXATOEK
BIRFIRIT, MABHEZ MG, RN EFEBEEINT
RIFEAHIT,

e hE F R RS . SRR Y, R R m e
IS KN R, MARTBRAOEH LM, TS
A SRS 24,

B S A SRS A S SBURLS, RRRENETE,
TEREREATRE o

* BRBEBHFRERE ML EZIN, FEAABRTFEIARNENEBRERTER,

* \When installing the device component to the output flange, please follow the specified fastening torque, and use the tools such as torque

#242K/\ Bolt size M3 | M4 | M5 | M6 | M8 | M10 | M12 | M16 | M20

e X244 N-m 1.9 4.3 8.7 15 36 7 125 | 310 | 603
Fastening
bolt kgf + m 0.18 | 0.44 | 0.89 15 3.7 7.2 13 32 62

¥ BRI 521298 E Recommended Strength level of the bolt is above 12.9

Committed to build a world-class transmission brand

F RIS
Matters that need attention before shutting down

o N WEZMESNNBES, FILFEETEREER,
o EREHN, HEWINGLIMNEEE, KEEMEMAT,

B PSRN

Matters that need attention during operating
HEBREIEH,

B AR R TSR T E %,
HIMTERE, HEIEE,

1. BERAFIEFE.

2. REEHBRRZI,

3. BHERAFIERIRE,
REMNRERRENT, HRELE,

1. BEATFEHIRE?

2. W&, B, EIEEERG?
3. MBEEKUELRE?

jiligihEE
The Iubricant managing

* SHASTNRESE R,

gpiEs

Daily check

EEFRETINEEEELRE LFA? (88FAF0C)
K, RSN E T Fm?

REN BT REIRT? (ISR, EOENEERRAT, )
BB RRMH? (HIER, BRRRAT, )

EUISE

Regular check

BELERE, ELREER?

R, 8. AR S E ENE?
FEIMFHRESHEP, (HAREAKH, EENFEERAT, )

83



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43

